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Answers CHANGE : 1
Qs CANCELLED : 1

3§) Uol e PIUIEPIURAT Q2T Tl §Shles USell &l 2

NESRICEI b) U® ¢) ST d) YRd

gt SR :

1) (a), (b) R) (b), (©) 3)(a), (b), (c) 8) (a), (¢), (d)
36) In which countries did severe drought occur due to El Nino ?

a) Indonesia b) Peru c) Bangladesh e d) India

Answer Options :

1) (a), (b) 2) (b), (¢) 3)(a), (b), (c) 4) (a), (), (d)

§6) FITTT GRGID PRIGTAT GPST =TI, ] G &I P ARG ITeeed] Qe gg)—
Fioar f7asT

67) Study the accompanying piece of transparent paper. Select the fold image if it is folded to get
triangle.
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GTellel SART AT 9 T 4 TR SR 2.

witan g Ffife duar

IEUT TG AP TR, JTeR fded=ages T HRATITer TRIg SR H1oT IRu gl qe Hebles
g R SRR IR I ST UTvfl, SIS aAlhs d IRT SUUIRIIC! FiFl YSUS PRIE! AN, AT B 1
gg, TOU fohaT TRIGR SRICITET PRl FeY THAl. AT BRI TR quF RIS g i 31aeded 3/
grareRumt U s B5al O & UdTE SR HI0T d UhauRT 3RIAL. TRl g GIfaRumRT 19T Jieand
3SHheledl RATS TRig I Afger TRIRe dgaerhrar Fafeudd digad Scdia.

IR 8T QT el SR UTHIVN HEaTed e TRST Ul HRUATATS! Heward! H{HepT Soiradl. I 37T,
TR, SU (SIS, oligs, T 31aely, Q1T W@d, JarT &d, f2RaT 9 PReT eI  ITiiel HaxT) SR
TP AR (ATHs M1 Tad) 37fr Siiwel (SEIYCh) & SRR daTes ¥y 3TTed. JId! JfTaRIe!
qroft g7 SIURET T HeaTal 9 SRy, AT Sucteuar arEeh et Sfeuaa g, SR I aufqd b
IR A US4 Ued!. IR SIegT TATaRvITT IR gial ciegl ot 3197 HRY NIl UIoar | dob, el
UTERATGATOR ATeR BIdTd. Iax-aigrd! srefeqawel, Sit SRIMRIaR aeiey 3 d &% AfgwTel AlhT 3=
oo ATET 2 U HewdTd! 919 37Tg. AHIGdICTeAT SIEROI 1o, U, IRT B8R STUTIRIS! Afeed Ml it
THTOTI 37 Hchuvl fiesdl. ST Sodl SshidT &t QIcl, STIcTeh™, TRd dereh R iedl av<] SIUITRITS! ST
T A1 U ARl Sl € q@iel JISHTRI Faid A1S Al 37Ted.

Gaa™ SATEIRMRROT, FRRIR d RG] SFIRIERemLicl GURUT Al QAT SRIMRER TR $lerell
3TTe. SRR TE VI, ATRBACIHRYT § IRl T8 BT, I RURITR g T HRTIcH el TRSTT oTas) 9 Sieilfien
TRTHE SiTetel o ST 16T @ SaR a=ad Uast! 1T d FafiRiear sieid garRiaur gid 31e. I/l HR 9ol
TPRIGTD TR R I AT THeled, ISaTgr SRl FReied d TRIMRER facdd SRIcied
qlepieR BT Ira GROM SAARAT @ e Sfia SHIUIIaRd wieg R FHIOT STIguT SRTUM=AT Hqul ST I
N gl

Afee T ST faeT SrSTufar AT PR1aT AR — AT BT SRTURY 9R fihar SR =T Jrd1a
AT MEN FATRVT FRIHeS ISHaAT AR, J Gexl DT AT Rgifcpa peiedl sMrT iy fGummofime
3T T R IFeied PRI AR FamuT MOT BRI el SFARIREAT FATUHTAT SR faaRume R
31TR ST ERTcliel RERITAT TS Sl 37T ARG e g STHIHT AR IHGH AATUERIG (RAUTAT TS
ISHEd. IR B IR A& BT, qataRoTET A1 Rean Jmefa srfeled g TRl JouTuaT @Y e
PR T,

*  Read the following passage and answer the questions 1 to 5.
Women and Natural Resources
Probably no other group is more affected by environmental destruction than poor village women.
Every dawn brings with it a long march in search of fuel, fodder and water. It does not matter if the
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women are old, young or pregnant; crucial household needs have to be met day after weary day. As
ecological conditions worsen, the long march becomes even longer and more tiresome. Caught between
poverty and environmental destruction, poor rural women in India could well be reaching the limits of
physical endurance.

Biomass plays a crucial role in meeting daily survival needs in the vast majority of the rural
households in the country : food, fish, fuel (firewood, crop wastes and cowdung, organic manure,
green mulch and forest litter), building materials (timber and thatch) and medicines (herbs), are all
different forms of biomass. Water is another crucial element in human survival and its availability is
definitely related to biomass in a country where rain falls only four months in the year. When the
biomass in the surrounding environment disappears, water sources like streams and ponds also tend to
disappear soon after the monsoon. An important aspect of this biomass-based subsistence economy is
that it is monthly non-monetized. Water, fuel, fodder, building materials and even food to a certain
extent are all gathered freely from the immediate environment. Production and processing of biomass
agriculture, forestry and village crafts. based on biomass as raw materials are also the biggest sources
of employment.

Unfortunately industrialization, urbanization and the advance of the cash economy have greatly
affected the country’s biomass base. The destruction of biomass with deforestation and devegetation
and its transformation away from rural and household needs and towards urban and industrial needs
(planting of teak or eucalyptus in place of sal or other natural vegetation, for instance) is having a major
impact on the lives of all those who live within, the non-monetized biomass-based subsistence economy.
Marginal cultures like that of tribals and nomads are the first to face total social destruction. But
women, not only within these cultures but in all rural cultures, face the maximum threat. ¢

The special difficulties that women face — their extraordinary work burden or lack of access to
health care, for instance, de not arise out of ecological deterioration per se. They are located in the
sexual division of labour marked by a double work burden (at home and outside) and by the specific
nature of tasks they do, and in the unequal distribution of resources like food within the household,
which stems from women’s inferior status in the household and from a lack of control over cash and
productive resources like land. But given this situation, environmental destruction exacerbates women’s
already acute problems in a way very different from men.

9) PR [T iU THIRT BIVIRT HHE DIV ?

9) AR B T R) WeEKie S g
3) WA Rig S g g) TR e & 7o
1)  Which group is more affected by environmental destruction ?
1) Urban women group 2) Village women group
3) Village poor women group 4) Urban poor women group

) B UCH el MR qolel UHifdd aid AR ?

9) affenfidiaxo Q) ARG 3) IRG anfiepar ¥) TP Tpgl ATt
2)  Which factor does not affect the country’s biomass base ?
1) Industrialization 2) Urbanization 3) Cash Economy 4) None of the above

3) PR UBRY Al AT AT AT BRI ?

q) fearit g Year SHTdt ) TN FR[r
3) arfdrferg et ) TTHIOT ApfcT

MPSC IrS3RdT gd G181 2032 : 9R-3 /7



For Private Circulation Only

3)  Which type of people face social destruction ?
1) Aboriginal and nomadic tribes 2) Poor women
3) Hliterate groups 4) Rural culture

8)  QemTchier I eRTefer ST iR FUE @,

q) IR TEardt e Foraar. 2) Uroft § U IRIMRT STR.

3) SU AgaTdl T Fomaar %) SRIART IO ERIT ATl ATel
4)  Explain the role of biomass of the rural households in the country.

1) Biomass plays a crucial role 2) Water is one of the biomass

3) Firewood plays an important role 4) Biomass 1s not important in rural households
) R T o, 2 JRYRTET fomTer e,

9) Sffenfihieur g TR ?) frratg amfiehem @ HiHia wRepfr

3) dTBACIARYT AT Rl feRgIeqaon 8) Mfearit 9 Heb
5) e, and .............. destruct the biomass.

1) Industrialization and urbanization 2) Subsistence economy and marginal culture

3) Deforestation and devegetation 4) Tribals and nomads

GTettel SART AT 29 T Y T SR 2.

afarsRIes IRt 37T aRoTH

FPICTSI 318 UlfelcianT 31Tth TRegIcge IT AT 48R AL UehTRId Sileied] IRl daT 7T Furdid
&N, IWHITUTd STcTiean ATURivtaR JafeRugse d Jfiamgsean Sdiel Jafd s Hae fHiur sirel
3Te. |qUl SRITE SFRRET & Jdd: UaieRve S SfT Isrepfedrd Jgunm=n fobar el qameiiat
BT 3N BTN IRER-FGUER g ITTE.

T @, IR SHTeTaRIeT Sehe, STetief FHeed T i SRIRIaRIhg BIUT=IT STaag =T

9) 3FeTDH GITERUiT Hfohaisht Teferd Sfiis arefeuawer.

R) bl G IRST qUT SPRUIRT STToanelt Heifti arefeeea.

3) 3iEnfie 3nfor uRfRSE ARl SMeTRa SoIRUSHT 3referere.

gfaRuTet Hefir ~Rfifes sreferaweerat g SietTiiel JariavT fChauTRT 37T SHTeT STerider A0t
ITCAT! AR 0T RO 3R, FAIbrea SttaTaedes TReT quf RorRt, SHToaeft Fefer St s
Mg, ot STeATcilet SHdaRaaT 3Ry AR (STe0T) IR, B, 321, gRead, s, 3. <ft ammoft wfifefae .
31T RIT AU ST 37T SRR TGV ANhihg 8l 3. TNRUSHT feaedag 3ieifie
TRIT AR ITIRIATC! JFTUR 10T gidl. a1 AR SHeRuRidie 3 Sifde gcd ¢ ffay awear Surd
gRaffd 2 SR, Sal. oRel Wiidgs, iR, SUPMMISH dlhe, SUTRION oidhs, 3. JHe Tkt
IOTRUST AT 9] SUSTY Bl HRAT ~fiich JTfTawT 3Tgul AU Srefeavl a1 HRH RERSTH
(3rfraamdid) Jifecar 3med. dUd T DIVATE! ST AT PRI 3ed. e 3T ST a1 gl
SR T FIRAT SRR TR ol el TR,

TATETATS! AT AT U Ugd- T TR 37 AUl dhel STed. SHIeTeal JafaRURRed
e Tice fafder RIvGIT PRI Bld. HT aTgdars! YRV SHeTl 9g3a2d iR LI e, RNEs
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UheheT! I SRIUIR FHIPRUT YR SHATT 37Ut e, 372 YR SURIGSC] AT eATherd ITeH
aTEAu AEITd AFel et 3N foha uaferufdyde SfewT IS Ao hde ITRUSH fRR JaradT.
TATEAAGRR ITURUIMES JSUSTd] aTR—-ay 3701 S 3fashAv (FRF) Jeead! RRrdht JioRdt 1R
Tett. ITRIFIRST ARTOAgaR Serfed BIomRr i Sitel fFAefor awvara armeft. R dadt wguama 6, afis
ST HUTR ARG AThSIA] ANASIS! hedHeo SHIeldiel Slidd e 341, ddhs 59+, IR, W .
ot IuceUdr HH! ST, FAMRY, aGR, 3. JHANTSHS YT YR Jecnas g, 3dTer, ufea arc ar
SITRIS FRTclieT FafaRuT Ufehdiet et Tigkad Tal.

*  Read the following passage and answer the questions 6 to 10.
Forest Policy and Impact

In her book Ecology and the Politics of Survival, Vandana Shiva (1991) argues that tropical forest
resources are undergoing the world’s most severe ecological and economic crisis, The food security
of the entire world depends upon linkages between the ecological stability and the economic well-
being of the majority of the world’s people who live in the tropics or the Third World.

Shiva explains the crisis of tropical forestry in the light of the conflicting demands for biomass
by the three fundamental economies associated with forests :

1) Nature’s economy of essential ecological processes.

2) The survival economy of basic needs satisfaction for people.

3) The market economy of industrial-commercial demands.

Nature’s economy of essential ecological processes generates a demand on the products of the
forest in terms of the maintenance of soil systems and the hydrological balance of the forest ecosystems.
The survival economy of basic needs satisfaction reflects the requirement of forest biomass (wood
fuel, fodder, fruits, nuts, green manure, small timber, etc.) by people living in and around forests. The
market economy of industrial-commercial demand converts forest biomass into items of the formal
market economy, such as pulpwood, plywood, furniture, housing timber, wood fuel, etc., for the urban
market. Nature’s economy and survival economy have always overlapped in India. They functioned
simultaneously without conflict as the survival needs of local people were satisfied through
conservation-oriented utilization.

The colonial rule introduced dramatic breaks in usage. The former perception of the multiple
functions of a forest ecosystem was replaced with a one-dimensional scientific forestry whose only
objective was maximizing production of commercially valuable timber. Market logging eliminated the
utilization of forest resources for ecological or economic objectives. Post-colonial forest policy
further aggravated utilization conflicts and forest degradation. The system of clear-cutting (with artificial.
regeneration) was adopted. Shiva concludes that converting natural forests to pulpwood plantations
further eroded biomass needed for fuel, fodder, fertilizers, etc. Monoculture plantations of eucalyptus,
pine, etc., severely undermined ecological processes in mountain catchments like the Himalayas and

the Western Ghats.

§) feoiedn SAITTAR S=RgREl ............. IR I 3R,
a) 3 U SIS b) TIiaRumd weRf
C) YTaRATesT d) SUTRfeSEiT TReTd U= dibia i deamor
gl IR :
) Hh (a) Q) Wb (b) AMMMOr (c)  3) Beh (b) MU (d)  ¥) B (a) 3T (d)
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According to the given passage, food security depends on
a) food production b) ecological stability

C) monsoon d) economic welfare of the people living in tropical region
Answer Options :
1) Only (a) 2) Only (b) and (¢) 3) Only (b) and (d) 4) Only (a) and (d)

feetear SR IRATer SHTeneft Heftid SHgERITEr HIordT giiaM FHR Iar ?

9) SRRIGE a Sifel amaR R) STl garrr Sfcr R

3) TR JeCRATEE SiTel ¥) Ha% IMCARIATS Sret

Which approach of a community related to forests in India, do you understand from the given
passage ?

1) Conservation and use of forests 2) Excess use of trees in the forests

3) Forests for expansion of trade 4) Forests only for tribal people

GRIRSEIS SR NG e

a) ST Pae JTRUSHIS! R

b) SHTeRIITes FEY T

¢) Uhderdl Sfe® SRIVIR aiih=ul el 3Turel et

d) STt Stafafaerr 78

gl IR :

1) B (a) R) B (d)
3) b (a), (b) 0T (c) ¥) el |qd

What are the effects of colonialism ?

a) Forests considered only for market benefits

b) Conflicts generated due to forest wealth

¢) Monoculture objectives of forestry were implemented

d) Loss of biodiversity in the forests

Answer Options :

1) Only (a) 2) Only (d)

3) Only (a), (b) and (c) 4) All of the above

TR SATATE Headf BeuT BRI SR ?

9) GITERUMET BT @ gedt aa<uRit R) ThR FATaRUT YR g Tkl JAd
3) NRA Relclier ST v %) T THRT JEANaST HrIS
What is the central idea of this passage ?

1) Environmental degradation and reduction in forest wealth

2) Wrong environment policy and reduction in forest wealth

3) Place of forests in Indian culture

4) Benefits of monoculture tree plantation
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90) URKI SATITEH DIV ISRy Pl Aar ?
a) SHTCRIGY g STGTTET SUART AT UhHDIER aeiey fohal M.
b) SaeR 37T Rt geridt Wy emas S % .
¢) JATEAATE YRUT SiTet 7€ gAY HRUTY 3TTE.
d) IR FERT AnieR SMUTRT TTRUSH JfTawT SHTAER 3acigy ATal.
gt SR :
1) Heh (a) R) Wh (b)
3) W (a), (b) 3T (c) 8) ®h (b), (c) 3T (d)
10) Which conclusions can be derived from the passage ?
a) Conservation of forests and use of forests are interdependent processes.
b) We should not cultivate more Pine and Nilgiri trees.
c¢) Colonial policy has caused the reduction of forests.
d) Market economy based on trade demand does not depend on forests.
Answer Options :
1) Only (a) 2) Only (b)
3) Only (a), (b) and (c) 4) Only (b), (c) and (d)

% gTefiel SART AT 99 T 94 T o =T,

Ham (Momentum)

IRIIT T G GG ATl JUMDR Ut FRT P = my, el gRacHTan & IR deneft FHTuTc SRl
31T T gRercs Serrea fR9F I, Fammer aRR|mr g feem Sl & SRy, Sqamen feom e fSeMr ard.

ST, 'm! GGA SRAUTRT Teh aR], GRoaTciiel] 'u' ST STIT SR fored e G2 'F' 3ah 9t Wgwh
BT 't SAFAT ddwicR awAT ol 'v' B,

. IRIAT FoawiEr T = mu,

't 3T PIAELHTR TFam Sifcd FaT = mv

<. ST aRadHET R = WEE?TW

[ asz'tm%m(:'“):ma

YT TR AT AR, el YRl & SR Jellers FHTa R,

s~maocF

-~ F=k ma (k = fRRi% 3’7 @ 97 9 3MR)

F=mxa

ot Srerarar Ragia (Law of Conservation of Momentum) :

TS, A 1 IR IR m, 3RET Tl Rarran o v, 3718, Td B A1 aRpd agA™ m, 3RET ferm
GRAITET AT u, JATR. FTeAT FAGAR, A a1 Foalcial Fall = mu, g B <1 gRawirar FaT = myu,.
SITIRT AT Qrrel I UhHPIaRcl! JTGaclie] Tdesl A TRER B aRHe F1 9o T 8 A I @Ruld gid
Erf%ﬁlTE\I'lT vy 'ﬁﬁ?ﬁ

AQ‘{'Q\'CII SIHIAMARE Adi = m, vy
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AT THfawIes /=T FIaaR, A < oEid B aR] R F9F d¢ oG QM Tgeh ard. el

B R T 9Ge &Iall. FHST ferdl o7 v, Sedd B aReyan STEalaRal W = m,v, Sk B S R F,
9 UG B IRIe R,

F=_=—F|.
o Mgl = = MR . BE, F = mn

"'hEHE:;_ulF:_ml”hJ‘—Lu] ..--n:l:"l__m

t smasimian " "
S EhglVg — i) = — migivy — 1)

o= MgVWg — Mgy = — MWy + My

an Iﬂi"l"i+ m1-r| = Mipuy + Higlly

TQHUT S T URA = Tehur FodTciedn Hamre giRAToT

TR SR QI aRiaR STel St 1 vl el OR ITaT oAl Tl HT I SR Tepur H AREaTd
R SR Plal &1 g0l PRI el R Il YUl A fRR I, g YTl Adifawdes for=an fzam
SURIEIT 2. TaR SeaoRel T fRR /al.”’ *'TaR Siieied] aHed ol GAIARd gl e aval
T T Bl TR ST ARG AT dTeetell SR’ M 81 RIGi Jeles ol qdiel |RTeT Al. SR g
TRIET THR STG R AT JMETATYEaT ThoT Ha 8T e JETAoRed Upul Hdisdera 3rdl. g Rigia
THSTUIRATS] FGehI[T AReIeT Telel SRVl fadRI 695 T,

STegT m IR o8] m, ERGHFTET SGehIi] HRe! ST, €egl v, 9T Ya ST feral TRor el m, v,
BN, et Seauaryd dge onfT M R SRFea™ FodTdlar Ham e SR @ QHuT HAT S SR, Ml
SefdeaoR Sxdiel aRiet FIZHTSHTO Qhul AT S SRl ST Mestea Ye VAT digeh HATedT fadi A=epd.
AT AT ‘Ufeiaiy’ (Recoil) TN, dgep UfaIT MM (v,)) 39T UGl FRebel 2,

m v, +m,v, = 0.

*  Read the following passage and answer the questions 11 to 15,
Momentum (P)

Momentum is the product of mass and velocity of an object. P = mv, The rate of change of
momentum is proportional to the applied force and the change of momentum occurs in the direction of
the force. Momentum has magnitude as well as direction. Its direction is the same as that of velocity.

Suppose an object of mass ‘m’ has an initial velocity ‘u’. When a force ‘F’ is applied in the direction
of its velocity for time 't its velocity becomes ‘v’.

.. the initial momentum of the object = mu,

- Its final momentum after time, ‘t’ is mv

.. Rate of change of Momentum = Change 9 meme ‘ime
mv-mu m(v-u)

t ot B

According to Newton’s second law of motion, the rate of change of momentum is proportional to
the applied force.

s.maocF

. F=k ma (k = constant of proportionality and its value is 1)

F=mxa

.. Rate of change of Momentum =
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Law of Conservation of Momentum :

Suppose an object A has mass m and its initial velocity is u . An object B has mass m, and initial
velocity u,. According to the formula for momentum, the initial momentum of A is m u, and that of B
is mu, Suppose these two objects collide. Let the force on A due to B be F,. This force will cause
acceleration in A and its velocity will become v,.

. Momentum of A after collision =m,v,

Aceording to Newton’s third law of motion, A also exerts an equal force on B, but in the opposite
direction. This will cause a change in the momentum of B. If its velocity after collision is v, the
momentum of B after collision =m_ v . If F, is the force that acts on object B,

F=_=—F|.
o Mgl = = MR . BE, F = mn

v, =} ¥ 1 L
L hlezt—ul =— My % J.t_",l._ R T “I._u]

. EhglVg — g) = — mgivy — 1)
= Mghy — Mgy = — MgV + Wl
. Iﬂi"l"i+ m1-r| = Mipuy + Higlly

The magnitude of total final momentum = The magnitude of total initial momentum

Thus, if no external force is acting on two objects, then their total initial momentum is equal to
their total final momentum. This statement is true for any number of objects. “When no external force
acts on two interacting objects, their total momentum remains constant. This is a corollary to Newton’s
third law of motion. The momentum is unchanged after the collision. The momentum gets redistributed
between the colliding objects. “The momentum of one of the objects decreases while a that of the
other increases.” Thus, we can also state this corollary as follows. “When * two objects collide, the
total momentum before collision is equal to the total momentum after collision.” In order to understand
this principle, let us consider the example of a bullet fired froma gun. ,

When a bullet of mass m, is fired from a gun of mass m.,, its velocity becomes v , and its momentum
becomes m,v,. Before firing the bullet, both the gun and the bullet are at rest and hence the total initial
momentum is zero. According to the above law, the total final momentum also has to be zero. Thus, the
forward moving bullet causes the gun to move backward after firing. This backward motion of the gun
is called its recoil. The velocity of recoil, v,, is such that,

mv, +m,v,=0.

99) QU IR IRGAM FFHH 00 gm AT 300 gm SRIT o THTT WeR d Thrd I ¢ m/s 3T 8 m/
s I ST 3TTeeT. T TR Bl G T STIeTER Ufgel! avel Y m/s T T 2Il. TR SITedTar Gl

SRIAT AT P -

9) o.§ m/s ?) €o m/s 3) € m/s ¥) aRIcTieh! Thg! ATl
11) Two objects having masses 200 gm and 300 gm, are moving along the same line in the same

direction with velocities 8 m/s and 4 m/s, respectively. After the collision of the two objects, the

first object moves with a velocity of 5 m/s. After collision, the velocity of the other object is :

1) 0-6 m/s 2) 60 m/s 3) 6m/s 4) None of the above
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SF RGN RER 3T 21 SAAMT TR SR Plel 1 9 PRI TRiel, TR ITal THuT Hal,

q) TR FHATATAT AR Al IRIA! ) g TRl

3) e 8) T Bl

The two objects are interacting without external force, their total momentum

1) depends on the initial velocities of the objects 2) does not change
3) increases 4) decreases

TehT §gehid aRH & kg SRIT T M SAISeIFR §igeb 990 cm/s I Hcrae g, TR dgebran
T P :

9) 90.2 kg m/s ) 9.0° kg m/s 3) 9030 kg m/s ¥) 902 kg m/s

The mass of a gun is 6 kg and it recoils with a speed 170 cm/s. What is the momentum of the gun?
1) 10.2 kg m/s 2) 1.02 kg m/s 3) 1020 kg m/s 4) 102 kg m/s

QT IR A A1 B AT aRH bR m 30T m, 3TTR. ~geTeal Tehfasyeh fore=an iR, A &
B TR ST 9 Wth PR d,

) FEE I faog 9 3RId. Q) I FHM 301 Uebra eI 3.

3) 99 3T Tehrg fedN 3RAd. ¥) 3R Nfor favg fedm R

Two objects, A and B have masses m, and m,, respectively. According to Newton’s third law of
motion, the force exerted by Aon B is :

1) equal and in opposite direction 2) different and in the same direction
3) equal and in the same direction 4) different and in opposite direction
AT URadHT R,

) TIh FeTs AU IR, R) WIh FeTers IRV SR,

3) Ugeh elleR el el 8) dRIcTUeh! Tehal ATgt

The rate of change of momentum is :
1) directly proportional to the applied force  2) inversely proportional to the applied force
3) does not depend on the applied force 4) None of the above

GTeleT SART AT 9§ o 0 FLAE I :
@faoT qiyor
SITEEATT TR AT FFgRIT GiwoT G0N 3+ STURU Hged 3Mg. A4 el I+ geehrd

3TU] SRAATT ST WP, HERANR 30T ARG IRGT AT, JOR A IaiaR AT 7 &l Teh (AR 371
amTfoT fafere ersita TieRuTT ATeft ifdes T 30T TR Pig AT, AT 3Tifddh TR WivoT 3T ST
AT WS IV FgUrdTd. WG] 8cdh JTATaedes A Sdl, SR AMRER a9l el Siia-asp quf &%
SIepd ATE! SATMOT PIUTE! TCh AR PIVKATE! TSHM dGe] A ATal.

MRS, B, BRI, AR-IGNH, GICRY, B, TR, o, IRE T d@Re g S9

GCHNC! WD FEUF Ngel SR TCh 3Med. S TCh g SR JHIUNT JATaeTD SAAT T
TeplgoHed TEUITT M7 ST Tehid! R HH! TRST IR IHT JRIshIsaey TgUIdid. aavgdid fagelsor,
g Pedr a1 gRIgHIFERT 3Tt 8 Heuq FgaR R WSl e 2Nl SIS ehd.
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T fIRIT0r §F TR 3T, 3iet Uae 3N ARG fA9eiNur. Saedds ged avdc! SiaHTd M
BR FRA. P, BRI M7 SffRIS g hiddh Ted 3fed. AR-IGNH & W S1L.UH.U., IR.TH.T.,
FARIE, .0, .., ThUS., SAQH 3FD AE@rAl SIeRUEl °ch e, BIRAT gl Jaciid
RIS, BRIl 3. a1 HE@mT Ocd TR, AN deRIS! dRuci=T G SR Y9I 3MTa9ad
3. BROT o gt Yefiean ord URMRITSH aMasads MR aTdTaRuT UM PR, BRI HARa-IHS eh
3TIOT 3FIeh TSIRIFRATS! hlthdeR 7@ Bl ahral.

BRI TN TR @I U TRa-HD °9eh FUT PRI P 3NN 3D TR gRITaR0T
Offhame I-thaex U fadRid 8. § FARIThal AXa-d Ui Oed 3NTg. IR M7 shiHfe g
R D IRGSAT IRV JAMETD 3R,

R, Rafee anfor fafrenarea I fafde s 3iRisd gcd 39, Tt UM ARa-d
AT U, g JIH AT Tl JATTaIT 3eh Hgearal Bl el FehleT HINUd HHIST <t fient Fgearat
3R, ARER ATEIDIRATS! TR AT 3. 7 ULl Rt TRToRTy S71for )RETehur U= g qaR ot Frrea
AR, ARSI T qY HicllaeTd Jgr 3.

*  Read the following passage and answer the questions 16 to 20.
Mineral Nutrition

Mineral nutrition is of unique importance in the biosphere as well as in the affairs of man. All
organisms consist of atoms of chemical elements which remain preserved in the rock, the oceans and
the atmosphere. Only the green plants and certain microorganisms can primarily extract simple inorganic
compounds and ions from the environment without being dependent on other living organisms. These
inorganic requirements are minerals and are called mineral nutrients. An element is considered as
essential, if without it the plant cannot complete its life cycle and no element can be replaced by any
other element. ,

The elements known to be essential for higher plants are oxygen, carbon, hydrogen, nitrogen,
potassium, calcium, magnesium, iron, boron and chlorine. The — elements which are required
comparatively in greater amounts are termed as macroelements and the elements which are of very
small requirements are termed as micronutrients. The mineral elements may be detected by plant analysis,
solution culture or hydroponics and solid-medium culture.

Plant analysis is of two types, wet digestion and ash analysis. The essential elements perform
many functions in plant life. Carbon, hydrogen and oxygen are the framework elements. Nitrogen is a
constituent of many important biomolecules like protein, DNA, RNA, Chlorophyll, NAD*, NADP*,
FAD, etc. Phosphorus is an important constituent of nucleic. acid, phospholipids, etc. Potassium is
required in high amounts by plants for normal growth as it provides the necessary ionic environment
for the proteins inside the plant cell. Calcium functions both as a structural component and as a cofactor
for many enzymes.

Magnesium, like calcium, also serves as a structural component and is evolved as a cofactor in
many enzymatic transfer reactions. It is a component of the chlorophyll structure. It is required to
maintain the structural integrity of ribosomes and chromatin fibres.

Being a constituent of certain amino acids like cystein, cystein and methionine, sulphur participates
in protein structure. Iron performs a number of important functions in the overall plant metabolism.
Manganese plays an important role in photosynthesis. Boron is essential for sugar transport. It is also
concerned with the cell ‘wall metabolism and pollen grain germination. Molybdenum is important in
nitrogen metabolism.
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HehlgeHey Ul BRI ?

q) ST TCH PHHI YHIUIT AN R) S gTH A FHIUN ARTATT

3) O gch SR YHIOT AT ¥) aRieTdehl PIuE ATel

What are macroelements ?

1) Elements required in small amounts 2) Elements required in equal amounts
3) Elements required in large amounts 4) None of the above

TTEAIT MY TSI HIIAT Tcdh ST THT0NT 3199 3rIal ?

a) Ui b) IRH ¢) FANN d) #af3rm
RieTdeh! DIvrt T /U™ SRR 3 /3med ?

gt SR :

1) T (a) R) B (a) MMM (b)  3) Fh (c) 8) o (d)
Which element is required in higher amounts for normal plant growth ?

a) Potassium b) Boron ¢) Chlorine d) Magnesium

Which of the statements given above is/are correct ?
Answer Options :
1) Only (a) 2) Only (a) and (b) 3) Only (c) 4) Only (d)

TR RIS hAddh SeMcH DIV 3Med 2

9) ARG, HAfdTam, IR R) HfARM, ARG, UM
3) TIfoRM, S, TR Q) PIe, BRI, 3faxileTT
Which are the framework elements in plant life ?

1) Nitrogen, Magnesium, Boron 2) Calcium, Nitrogen, Potassium
3) Magnesium, Iron, Chlorine 4) Carbon, Hydrogen, Oxygen

TR ARER ATEehIdl pTH DI Tedh PRal 2

a) BRI b) IR ¢) IR d) T

R PIvrt [T /U™ SRR 3 /3med ?

gt SR :

) Bch (a) R) Wb (a) 30T (b)  3) W () 8) Th (c) 3T (d)
In plants which element is essential for sugar transport ?

a) Calcium b) Tron ¢) Boron d) Magnesium

Which of the statements given above is/are correct ?
Answer Options :
1) Only (a) 2) Only (a) and (b) 3) Only (c) 4) Only (c) and (d)

TR PV TRl AT 8ch 3 ?

a) FIRIfthel b) ARICSH Belsiers™

C) U1 AT d) IR ARID

AU P e /faum sR1sR 3mg/3med ?

q) Bh (a) R) % (b) 3) &b (b) 3T (c) @) B (c) 3T (d)
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20) Magnesium is essential for which structure ?
a) Chlorophyll b) Nitrogen metabolism
c¢) Photosynthesis d) Sugar transport
Which of the statemerits given above is/are correct ?
Answer Options :
1) Only (a) 2) Only (b) 3) Only (b) and (c) 4) Only (c) and (d)

GTetter SART AT 9 T Y HeAT IR 1.

RTTTAT (3Y) FARATBIR A a1 ART Hed ¥ AN AT TR0 81T ATARIT 21;31; TIR

Al T SRURN SRIT T WO I Tl G 2ehel I 3TIOr &1 fohar STRAT g aTeR g

23‘ZU + ;n — zggU—; légBa + xKr + 2 ;n.

R fepar & wep dfere ot areft favgs foharm aTe. S1op=a favge foheial AIGRITMIUT Shofl aTeR Ul
foRgeATIes 0T BIUTRT o1l GG IR Jaeiey 3R, ORGSR Qi bl g Hidhes Silelet g I
T3 GGHM ¢ SIHThATPREpTeAT aRHHUEN PHT SR, & avga Jci, fafere refivnet, e foge
foRI 0.2 a.m.u. ST 3R, STt 9¢E el Seiag @lee (MeV) Sadh! Tent IR 1T fargsARTet
3T 8.3 X 90° fhell PRl Tb Al (34 IH) R U faRdSARATS! SR,

forge 2 Tfshan R Sifce srad. & ufoRdd T UaT SR Siepatiea Siiean H1fed 3ffed. STTdT 31901 U

R *U ~geefia s fba arg, oft =g SureuTs aict. ) a forde fobar damest Hep Eid e,
TS do5¥] U HIGATHHIUNER ool ST il ST TepT Y&l SR Sqaciel ~ggid Sefoid i,

235 1 236 90 144 1
92U + o™ - _921] — 37Rh + 5503 +2 ol-

qAD Tep g Sl faRgSId fEharam TRY Rl Te G Seidciel RIGH Scafoid alald. fade fopige
SN lelel g & Ge SR 290U hopmed s@dfid et ST SfIfor @mges e fads fba anfor

T I G BN, &N I e AR G 2 s Soll o . T SR 20U < T et
3R TR T IS ISR I STciiel SMOT foRgs feham idet. 7euT &t Aaetl ST HhaT HRY g
e, OIS 230U U <A R TRt SR, ISt Rt S @ T fober o e fobe

Db IR

SRaT JATHIHAT & STUET < Hold 37Te. THICRATS! G TN STaiIHic 31 Beep g o a7
T aRGH AT IRGATATIET SR 3RSt AT § Uehl SARATURY] FhICH Heqy Ueba 3MMUTe] ST, Tehal
T ¢ AT IAT el A, Tegl YRaetl SR TR gisel SMOT Teie HHIUNd Sl FHI0T Blsdt.

Tl IS g9 el G T aTaed UEiS ol FHI0T Sheft ST, &l 2352U i Rrde

a1f¥fehar FRIGKT AT IRgef! ST, &1 Yeiaed R BIC Jobs TThISE fhdT Sts druft (g Herieh fobat
fRITe) AR STeRT ael SITT. S =gHaT <1 Head!, ael ififhar FHfa ereas 9ed 2. a1
SITHIRAT TS IO Srolt IS U Teh it d off g Srotal wUidRa gldl.
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*  Read the following passage and answer the questions 21 to 25.

When uranium isotope-235 is bombarded with slow neutrons, z;:U is formed by capturing a

neutron. The 2:;21] being unstable, breaks into two fragments besides releasing two or more neutrons

235 1 236 140 94 1
92U+0n—a~ g — ggba + L Kr+ 2 n.

The above is a typical fission reaction. During a nuclear fission, a large amount of energy is
released due to mass defect, i.e., the sum of masses of the two fragments and the neutrons set free, 1s
less than the sum of the (given) masses of the reactants. This mass defect, for a particular amount, in
uranium fission is of the order of 0-2 a.m.u. which corresponds to the production of 186 million
electron volts (MeV) per uranium atom fissioning or about 4:3 x 10° k cal per mole (235 g) of uranium
atoms fissioning.

The fission process is complicated. Over thirty pairs are known. Let us now consider the most

famous nuclear fission, that of 2352U brought about by neutron capture. Although this fission process

occurs in a large number of ways, in each case a large amount of energy is released and more than one
secondary neutron emitted.

1
0

Two neutrons are emitted for every neutron that initiates the fission process. The neutron emitted

235 236 90 144 1
92U + n — _92U -3 37Rh + 5503 + 2 ol
during fission may be further absorbed by other zgiU nuclei thus causing further fission and emission

of more neutrons. In this way, a chain reaction starts releasing tremendous amounts of energy. However,

if the amount of zgiU is small, most of the neutrons will escape from the surface and the reactions

will stop. Therefore, a critical mass of metallic uranium is necessary in order to start and sustain a

chain reaction. The critical mass of zgiU has been found to be between one to hundred kg.

The basic principle of atomic bomb is the chain reaction. At the time of explosion, the two
radioactive samples of each subcritical mass, but whose total mass exceeds the critical mass, are brought
together by the use of ordinary explosives. Once these subcritical masses come together, a chain reaction
starts releasing a large amount of energy.

The principle underlying such nuclear fission has also been employed in harnessing vast. amounts
of energy in nuclear reactors. In these reactors, the fission reaction is made to occur at controlled rate.

Essentially, a reactor consists of lumps of 232U separated from each other by blocks of graphite or

heavy water (neutron moderators) which by slowing the neutrons, help in controlling the chain reaction.
The large-amount of heat which is released during the reaction is converted into electrical energy.

29) fordes wftrarimed Fufor gum= Sofd THI0T Wiehiefid! PIur dTeiar /amefiar sfaeies SR ?
a) AT PRPR IGA b) SUIERI TEAM
¢) fAfhaTPRe M IUIGR TgAT d) forgereT dast St STeler aHM
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it S :

q) T (a) ST (c) R) h (b)

3) Weh (d) 8) Weh (a) ST (d)

In fission processes, the amount of energy released depends on which of the following factor/s ?
a) The mass of the reactant b) The mass of the product

¢) The mass of the reactant and product d) The loss in mass during fission

Answer Options :

1) Only (a) and (c) 2) Only (b) 3) Only (d) 4) Only (a) and (d)

qFAT A RIS STE STt &1 Pl TR Sl ?

a) g gl oIS PRI

b) G ol ArSfIuIRATS!

¢) RIS Sl PHHT BT AT I HG cgral, 30T AT TIEUT I 70

qift W :

) &b (b) R) &b (c) 3) Bth (a) 8) (a), (b) 37T (c)
In nuclear reactors, why is moderator (heavy water) used ?

a) To cool the nuclear reactor

b) To enhance the energy of neutrons

c¢) To reduce the energy and hence the speed of neutron so that it slows down and gets captured
Answer Options :

1) Only (b) 2) Only (c) 3) Only (a) 4) (a), (b) and (¢)
Gretiel qRepfede Afiifehar quf &

:'{.{;“ ¥ I'|l| "ﬁ--: xNie 4 "EiHl’ + 4 [r:"
a)x=141,y=91 b) x =139,y =93 c)x=141,y=93 d)x=139,y=95
qift S :
9) ek (b) 3T (d) R) W (a) 3T (¢)
3) Wk (a) 30T (b) g) Wh (c) 3T (d)

Complete the following hypothetical reaction :
235 ! e i o !
ogU * o8 =5 %0 * faBF +4 oF

a)x=141,y=91 b) x=139,y=93 c)x=141,y=93 d)x=139,y=95
Answer Options :
1) Only (b) and (d) 2) Only (a) and (c) 3) Only (a) and (b) 4) Only (c) and (d)

SRIET JAAIPATATS! foRgs BIoN=AT UgreIl HHiT GRgH SR 3T JATALTD 3T ?
a) fogeT QIR yerifeaT geHRIeRd RIgH FRIgT STToarTd!

b) foRgsT BIUIM=IT USTRIAT JBHATERe g Mo G2 thebel STUIRITS!

¢) TG TSl ST e SRR Fo 8IS T, @UIRITS!

d) R Bom=T yeriea geamTa ~ggia wRafid goamd!
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gt SR :

9) T (d) R) B (a) AT (b)  3) Fh (c) MM (d)  ¥) B (©)
24) For the chain reaction, why is it necessary to have critical mass ?

a) For neutrons to escape from the surface of the fission material

b) For neutrons to scatter from the surface of the fission material

c¢) To capture neutrons to start and sustain the fission reaction

d) For neutrons to reflect from the surface of the fission material

Answer Options :

1) Only (d) 2) Only (a) and (b) 3) Only (c) and (d) 4) Only (c)
RY) feeieam o fargs fiRxd, qoo0 7. ”f;fju U faREST B ... SIDI Soll TIR BIRe.
a) 8.3 x 90° el Hery b) a¢& fAfer™ sataeH @lee (MeV)
c) 2 x 90° el et d) 9.¢3 x 90° el dert
R SR :
9) %eh (d) ) b (¢) 3) Wb (a) 3T (b) ®) Wh (b) 3T (d)

235
25) From 1000 g of A;ZU by the given nuclear fission process, the amount of energy released is

a) 4.3 x 10°kcal b) 186 million electron volts (MeV)

c) 2 x 107 kcal d) 1.83 x 10" kcal

Answer Options :

1) Only (d) 2) Only (c) 3) Only (a) and (b) 4) Only (b) and (d)

% gTefiel ST AT % T 30 Hei Jux &l

YIERIh TRHd: Tith AlehaHcd IR dhell ST, Tl fIUeds Y-faemes Jffg 6l el IR arg fFmior
foTARef TEUSTT T %o Q. AT ISTAHT A fehal DIoTeTal RIBReN Raehrn fdhdT AT gred.

A fJERIh PIUTE THNRTT UHd: AT dall STes BT, el TR 3RIgH! SN
fAeRIe Qe AHNETRT Tth 43! s TG et SN, IT I Qival YT FHITT YR sRidetel fGHd.
TR A R AT AT 5T (R FHPAd 3R, ISAAHA TRUT AGRT R AT Ul
R eTe] FHRITETE! ! SRIeT HTETehd Y soehld bl Hofl Yees o ey g e
TS AP AU SR,

SR AHTRI S e HagieT el f[Aumdier Hreed Ued foares ordrd. Aesi-ie Agare dd
qEffer T @l PR, U7 3 Gral AhTHeT ISTRTHUET SR T 318, FAHe® Teh AlPAHETd SIAEGR
3. IGAH HAHSBIER AL TR IR ehRUgTal AfehR el

STAHAT I TR AGTHT ISR UM el S« ot Fasue ofor wgif¥im, wamE
AR AT e ~FRATerATeaT IR gepretg!, ool = aieur, srearaer STRY &Rl ST HerIgeI.

TR 31l 3Tg Y, ST AP SRS el T, AT 3rRf IR AR D, ISTAHA
TRBRI FAVIT Hegedre! YHpI TGl PR AHRE W& TG g7el 718, 8 alval AHR) Ao HRATd el 698
3. ISTAH AT SR FHA Dhell TR G dH 31RgeT ARG HaT FHivr o 2rep.
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fRTaRT ITRTHT B ‘DICYST T’ AIQd el 3R, O AbTHyHTY faRFsiial gl Aral. alepaT fRfsiad

IRTCICT I IR W YfHehT ARt @M. @ |4, 5T g Iwraenel sl Sugd §¥Y 38 8
SRIFUIR HET .

*  Read the following passage and answer the questions 26 to 30.

Money Bills originate only in the Lok Sabha. If a dispute arises as to whether a Bill is a Money Bill
or not, the decision of the Speaker of the Lok Sabha is final. The Rajya Sabha has no power to reject a
Money Bill. It can only make recommendations, Le., suggestions. The Lok Sabha may accept or reject
all or any of the recommendations of the Rajya Sabha.

Ordinary Bills can originate in either House. In case of disagreement between the two Houses, the
Bill is referred to a joint sitting of both of the Houses. It seems that the two Houses have been placed
on an equal footing in this regard. Really speaking, the Rajya Sabha is in a weaker position in the matter.
Since the total membership of the Rajya Sabha is less-than even half of the total strength of the Lok
Sabha, the will of the Lok Sabha would naturally prevail at a joint sitting. Moreover, a joint session is
presided over by the Speaker of the Lok Sabha.

Members of both the Houses can put questions to ministers about the work of their departments.
They discuss all matters of public importance. But here again, the Lok Sabha has more power than the
Rajya Sabha. The Council of Ministers is responsible only to the Lok Sabha. The Rajya Sabha has no
power to pass a motion expressing No-Confidence in the Council of Ministers.

The Constitution puts the Rajya Sabha on an equal footing with the Lok Sabha in these matters : the
election and impeachment of the President, removal of the Judges of the Supreme Court and the High
Courts, Proclamation of Emergency, Promulgation of Ordinances and Constitutional Amendments.

The fact remains that the Rajya Sabha is not at par with the Lok Sabha. It does not, however, mean
that the Rajya Sabha has no important role to play in the Governmental machinery. Neither House by
itself constitutes the Parliament. It is the two Houses together that are the Parliament in India. The
Parliament can create new All India Services only if the Rajya Sabha passes a resolution to this effect.

Moreover, the Rajya Sabha is a ‘Continuing House’, a Parliament chamber. It is not subject to
dissolution like the Lok Sabha. It has to play a major role during the periods when the Lok Sabha is
dissolved. All this helps to show that the Rajya Sabha is an influential and useful body.

€) TAIUTE YLHT: Beh ... qRIT TG PRI,

9) BT ) TSIAHT 3) faum uReg ¥) eIl Tehg! ATl
26) Money Bill originates only in the

1) Lok Sabha 2) Rajya Sabha 3) Vidhan Parishad 4) None of the above

V) TER ASTs gHIOud 3R P ATE § DI KAl ?

9) I Q) TIuU 3) SWRIFYt ) AlHATd FHIH
27) Who decides whether a Bill is a Money Bill or not ?

1) The President 2) The Prime Minister

3) The Vice President 4) The Speaker of the Lok Sabha
W) TEFT IO FEURE B ... e Higel SN

q) TR Q) rHaHT 3) T¥CT PIUKE TURE 8) Tt ATl
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28) Ordinary Bilis can originate only in ......
1) The Rajya Sabha 2) The Lok Sabha
3) Any House of the Parliament 4) None of the above

R) TEAUD! DIV ISTTHAT G (RIT HRUT 18N 2
q) IS THUT G AT ABRTHUET A .
Q) GIh SRELMR 37ede A o FHI AT
3) HAlHEs g hih el SR 3RAT
8) g Tepel AT

29) Which of the following is not a reason of weaker position of the Rajya Sabha ?
1) The total membership of the Rajya Sabha is less than the Lok Sabha
2) Joint session is presided by the Speaker of the Lok Sabha
3) The Council of Ministers is responsible only to the Lok Sabha
4) None of the above

30) Wleiicldeh! PIUAT STecia ISTTHT AHaHT SRSk A8l ?

9) FYrE IS R) HaT™ IR <RI UeTeRo &3 ehRUl.
3) anvftemiieh o ) qRIeAIdT Tpal el

30) Inwhich of the following cases 1s the Rajya Sabha not equal to the Lok Sabha ?
1) The election of the President 2) Removal of the Judges of the Supreme Court
3) Proclamation of Emergency 4) None of the above

% Tl SART argd 39 34 HeAE! IR .

I¢to Jrerdn Frasuhia Rufected gard SHIaR Sfger fofeb JIFTeder =aUd g 3ol el
RISTEhIT I QUaTd SATERA RufecterT e fFagufes SERATIIT URAg detel ald. Aredl Jemeie Hfcra
qut QIoarT {2 UIgel STIudNd Sietl, Pl MU ISIhi T dglel PRugTIS! Hfaumra fafaer
SORAT PRUGTA 3Ted]. IEERUN, 9¢&3 Wlell RufeeTer AR [erHiRrea el Haferd avmeag gowd!
HoR el o, 1, febar el it a1 fFepsiar AagFT 3TfRipR AehRe TAd, 3T AT ACEC ATeTedl
Tl GORITGR BIGUATT 3Tel.

a1 A il gowar THTd! URiST YrSuT Bledl. 9¢§Y—9C0E AT PlerdSK ‘Sfidiel Irsared
YR AT Tl aTg HUTT RISTehidl GeAeli=T ehlaodl eAlepiT YUl ANTReped fesTe ATep=al TR G et
AR SRR SIfIfTH, 9¢0y’ SR T 3R 3M AFHEY VSHTARIRd anmudhd} dTe Hidhest Seft. U,
2 I Fffd e, PR YA = FHTE FHiel! degr qasEt e i R Hivor Ryl derel g,
BT QUITT 3fTelel ATRI PR SRAIUT D SR Fai" —RTAIF 4¢3 Al TR del.

SATERAT AU SAUTGR QT AAGHT SIRIBR 9¢ -0 BT GBI Plg HUATT el AR JTGuiaRIL
PRI TRGardl A SFHAGSTull SAreft el aRorH, smRdvdier agdier TRHed fA¥hiesu g HeHTared
TSl ORI TR STedt. R Pl rIg ST Sfel SR UM Plediedl SiieHTdlel |d SdehleHed
fIRhIRUT § HeHTaTeT UTedw JRad. favachiaunelt Fetld sFe Weeamed Hare eI [ahieuer
fRremaIcs et amge AR AgR 3, Rvhiewor 7 TaTRIGR R 87 I BRI AT yofd: e
ST, STITOT I AT HATRIBR THaTaT ARTAT. fIHhIARU g FATRIBR Plgd BT ATl ARG BRUIRT ADBRI
PG FifAUTH T BRIQER SR Hare TR SER el TS P [RILUTHR 3w 31edhe],
qifdese I T I ATl ivor FRuard 3fef! gicl, guT T fI9h T80 §U-dRS 8.
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g <. aifdRe I Q! aIcTETcigR d FaRIgRAT BIRISHHIGR Pl ATl FHRT ISRl

BT U Seeg, §. &fl. § 13 AT ATRRC I TgUIV Uee TRl § §1g A1 pleodl Tosaadlen STglel, IS Rraral
3T frroTarer fHepr foett.

*  Read the following passage and answer the questions 31 to 35.

In the election of 1860, the Republican candidate Abraham Lincoln was elected as the President.
The Republican Manifesto had included a promise of political freedom to the Blacks. Steps were taken
to fulfil the pledge taken during the Civil War, and a number of Constitutional Amendments were done
so as to give more political freedom to the Blacks. For ‘example, the Thirteenth Amendment passed in
1863 by the Republican government was about the Abolition of Slavery. The Fourteenth Amendment of
1868 ordered that the right to vote should not be denied to anybody on the criteria of race, colour or a
history of slavery.

These three Constitutional Amendments set a powerful precedent. The political diplomats who
had vowed to reconstruct the Southern States during 1865 — 1876, began to strive towards securing
the complete citizenship rights for the Blacks. The Civil Rights Act of 1875 opened a number of fields
for them where they would not be discriminated against. The success, however, was limited; because
towards the end of the period of Reconstruction, the erstwhile slaves had fallen into the grave situation
of economic slavery. The Supreme Court in 1883 declared that the Civil Rights conferred upon the
Blacks were unconstitutional.

Their voting rights were snatched away during the decade of 1890’s using the trap of literacy
tests. Other provisions of the Act that aimed at fighting the racial discrimination were not implemented
properly. Consequently, processes of segregation and discrimination became deeply entrenched in
most of the institutions in the United States. Jim Crow Laws and other such traditions supported
segregation and - discrimination against the Blacks in all walks of their life. The Supreme Court validated
segregation in a number of related cases. This meant that it became legally very easy to entrench
prohibition, segregation and denial of voting rights by the implementation of the Mississippi Plan and
the Negros lost their voting rights. The Government Act which took away their voting rights and legalized
segregation was declared to be constitutional and legal by the Supreme Court. This put the Blacks.in an
ironical situation. Technically, they were declared to be of the same status as others, but they were
compelled to stay separately.

Booker T. Washington wanted to solve the problems of the Blacks by peaceful negotiations and
self-support initiatives. However, W.E.B. Du Bois could not agree with Washington. Du Bois gave a
radical, nationalist and separatist stand to the Black Movement.

39) @reflel fau™ g,
a) P IITHRI Td=T QUATT MR Rufeetar e 9¢g o Aefiet STERATITT URIg delet Bid.
b) TR BeIGORIgeS TN T HRUATR TG HTeil.
¢) P AT 3ot AR IRIBR IRfAee SR Fate IR 9¢¢3 ATl SRR del.
gl IR :
9) (b) g fau™ (a) =1 gRomT 3R 9) (a) g fau™ (b) =1 gRome 3
3) (c) & fAUM (a) ° BRUT 3. 8) (a), (b) JAMOT (c) AT YepHepI Haer ATE
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Réad the statements.

a) The Republican Manifesto of 1860 had included a promise of political freedom to the Blacks.

b) The Thirteenth Amendment provided for Abolition of Slavery.

c¢) The Supreme Court in 1883 declared that the Civil Rights conferred upon the Blacks were
unconstitutional.

Answer Options :

1) (b)is the effect of (a). 2) (a) is the effect of (b).

3) (c) 1s the cause of (a). 4) (a), (b) and (c¢) are unrelated.

¢y =T AR AftRpR STfifETeT 7Aifed ger fetet, BRUr -

q) gatsiir TemiET Wua & geft St 8.

R) Pl BT HAGH PR Fegd.

3) AT 3TRieh U Saeh! Wietdet! gidl @l T QelurH a8 =l 0T AT 8.
8) SROmSe roardl g B g,

The Civil Rights Act of 1875 had limited success because

1) there were many fields open for erstwhile slaves.

2) the Blacks did not have voting rights.

3) the slaves had become too poor to exercise their choice.

4) Southern States were being reconstructed.

3HRebcllel TG ARAHE fAHHIDROT d HEWTATAT UGl SIRIT0N IR ST, BRI

q) TR TGO TR € FAreft e,

Q) TR AfBR i aRgerd! SHetasTavt SafRIquur Sl AT,

3) Pl ABHT HAGHET JRIBR T e,

8) aRIeTib! Terg AT

Processes of sepregation and discrimination became deeply entrenched in most of the institutions
in the United States because

1) slavery was abolished by the Thirteenth Amendment.

2) the provisions of the Civil Rights Act were not implemented properly.

3) right to vote was conferred upon the Blacks.

4) None of the above

gax <. affiveT onflr sy 3.1, g 915 ArAEEd PIvd AU 3T oM ?

9) SEd MR IIETETer B

?) ST HUEUIT Todeid HRRA Bl

3) QU THIRIT BRIUGHEEd ThHd .

8) dIfereT I Hales YR, TR § dIg I STglel YRV fdeisl hel.

Which of the statements about Booker T. Washington and W.E.B. Du Bois is incorrect ?
1) Both were American Presidents.

2) Both were active in the Black Movement.

3) Both did not agree on the way in which the movement should be carried out.

4) Washington was a moderate, while Du Bois followed radical policies.

MPSC 39T I8 G187 2032 : YiR-2 /24



For Private Circulation Only

3Y) IRTY faur anesar,
q) FRIRIY TS P HeHETE Sfiad STTd. AR,
R) MRt Iome Pl AaeH STeR iRt e,
3) HIERATCRIS HRIEHS Blodia FAaqHTd IMUDR fZRaet e,
8) GH PICH PRIFT P TR PR fHesgd et

35) Identify the incorrect statement.
1) Blacks had to live a life of segregation due to the Mississippi Plan.
2) Voting rights of Blacks were denied due to the Mississippi Plan.
3) Literacy laws were responsible for snatching away the voting rights of the Blacks.
4) The Supreme Court always provided Civil Rights to the Blacks.

% Weftel SART AT 3§ T 8o Hea e forgT.
T A1 31fr 1 AT HEIRR TraTg

TeT T &1 Uep IR ARRY HaT8 318 il el HERIRRIG SIAfHauur Idl. ot e ey arfiep gamH
I D 3Gl Y SARTetel ATal. Vel Al & Tehi gcT Pral auiedl JidRM ged. IT JaTgres UReel
fehTRUS TMOHM BRA PHI 8l ATel. Ueedl fPARUgIaR Ut el Rewir a1 dFel ST SR dl
RemioR Ia). Ut 9T U SR UT0TET HERIFR UaTg 38 Sff Ul fhRUSIaR SWhfedey YR

§e Uel RS AT JIaATuaT STRIT UTed Ul SATes URedl! fhiRUg! iRk gl 31l PiRel
S g1, Pl Hew UeT (e Uoedl fFRUSIaR JRIoUR UIesd Ued! 31101 SRR Stiarar =rer gl
(welaeTeaT el AT 5. Vel FHrear SiTed] urakires fhiRug aRiel URnd dTesdc foRaf TR Sdl AT
T P, TR AT hodl AT FRYR Nep 81, UeIed Qo (-1 IuTehfcaielr gd URifthed AT AT SHTOMUET
IR d A UC SR dll, IR SWhiea iy afeam URiftherred pRel IR 3R, aRoTHt SSFfRmT, airereer
3T AR SRATGHE THR TPT5 Tecll. SSRIATAT ST Tl TR SR 4]R0--¢ HE UeT fH=rea it
g GRSl Heftrd g,

o T g1 URifthes AEMATITCHGT &S HERIFRIET HaTg 37 Sl Ut fHHrea faog omg. o P werd
TERIFRICHS [AYageiia AHT 9 HHT Bid. STegl WaTg 8Idl degl SR aR QT o areadid. AT el
SR Ufeas A= I ShHT gIct STIOT HeTic HEMIFRTET Ufeed | o dTed. Tes gadT Qi At
gir ST YR Uy Ueal. SfRugd SnfTciel IR TSt o 7T STeegR 31 37ify & sRieR
Id UeIid AERIRRITS U6 QelTcliel aTesde 3T DiIks gidl. ol T & ot et arendt Sigior ATef! ST, Siegt
ol T SwTenfedygy afeem dRifthepHea et @il gt Tel 1 Sourepfediefiar gd dRifthepHed) grachT oRel.
o e YRifthermefier B Rl Sgera A anfdr Isurmfeseiar ufeay dRiftharmed afeft fRuch fmfor gl

*  Read the following passage and answer the questions 36 to 40.
El Nino and La Nina Ocean Currents
El Nino is a warm ocean current which occurs irregularly in the Pacific Ocean. The invention of
El Nino is useful for the prediction of global change in annual climate and monsoon rainfall. But the
generation, extension, period of El Nino is not yet predicted accurately. El Nino is a cyclic incidence
which happens at the interval of a few years. The temperature of the Peruvian coast does not fall
considerably because of this current, El Nino is considered as Christ’s child on the Peruvian coast
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because it arrives after Christmas. El Nino is a warm water ocean current which creates tropical type of
ocean climate along the Peruvian coast which gives good rainfall to the desert area.

The strong El Nino brings heavy rainfall exceeding normal rainfall resulting ‘in lush greenery in
the otherwise dry coastal land of Peru. Sometimes the strong El Nino causes heavy rainfall along the
Peruvian coast and destroys the marine life (death of fishes due to loss of plankton). The good rainfall
from E] Nino makes the coastal Peruvian desert green and there is rich harvest of cotton, coconut and
bananas. The strong El Nino gives four to six times more rainfall than the normal amount to the tropical
eastern Pacific area but dry conditions prevail in the tropical western Pacific resulting in severe drought
in Indonesia, Bangladesh, India, etc. The widespread fire in the forests of Indonesia in 1997 - 98 was
related to drought resulting from a strong El Nino event.

LaNinais a cold ocean current that flows in the Pacific Ocean which is the opposite of El Nino.
Due to La Nina the temperature is reduced in equatorial areas of the Pacific Ocean. When it is generated
the trade winds increase their speed. It reduces temperature of the west coast of South America and
increases it in the western part of the Pacific Ocean. It decreases the air pressure and causes heavy
rainfall. La Nina is responsible for additional rainfall in south eastern Asia and the desert in Peru of
east Pacific becomes drier. The La Nina is considered as the younger sister of El Nino. When La Nina
becomes effective in the tropical western Pacific, then El Nino becomes ineffective in the tropical
eastern Pacific. The dry condition in the western Pacific is terminated and wet condition is introduced
in the tropical western Pacific by La Nina.

3%) el IS epUTepIurea QT <ftel ebles Uell giell ?

a) SeMfRT b) U® ¢) ST d) YRd

i} SR :

1) (a), (b) R)-(b), (¢) 3) (a), (b), (¢) 8) (a), (©), (d)
36) In which countries did severe drought occur due to El Nino ?

a) Indonesia b) Peru c) Bangladesh e d) India

Answer Options :

1) (a), (b) 2) (b), (© 3) (a), (b), (c) 4) (a), (c), (d)

30) folcar AT SMUUINT o T I8t PRI Hifga Ao ?
a) &1 U8 WRI T8 3Te.
b) & TeT e favg 3.
¢) a1 1 & vt ARl emendt 980T ARt ST
d) & 9T TR HIHTR AR IR AT AT aTeRard.

Tt SR
9) ek (a) 31T (b) ) ®h ()
3) %eh (a), (b) 31T (c) 8) (a), (b), (c) 3T (d)

37) What information do we get about La Nina from the given paragraph ?
a) Itis a cold ocean current.
b) It is opposite to El Nino.
c¢) The La Nina is considered to be the younger sister of E] Nino.
d) After the occurrence of La Nina, trade winds increase their speed.
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Answer Options :

1) Only (a) and (b) 2) Only (c)

3) Only (a), (b) and (c) 4) (a), (b), (c) and (d)

vt T @ R 916 Tl S BROT

q) dF Rea™T FeR It R) Al e ariieR Il

3) a1 fo Pvl == I ¥) @ IISR YETET sRIsR Il

El Nino is called Christ’s child because .

1) it occurs after Christmas 2) it occurs before Christmas

3) it occurs during crop harvest 4) it occurs along a warm current

9) JEER YaTg R) US Yarg 3) U Uet ) U§e o T
The marine life is destroyed on the Peruvian coast due to

1) Warm current 2) Cold current 3) Strong El Nino 4) Strong La Nina
gTefier faerm uer

a) A FFTeS TRTA UTd &R Used! fhTRUg! feRefMTR el
b) o M Ul aT@dcra IRl UThd 8l PIgd, TR, Hedl I HRR IAIGT all.
¢) T AT TN HERITRIcH SfRIfAT SIgR AR YdTg 31TR.

gt} SR :
9) b fIUF (a) SRR 3R Q) Heh fau™ (b) ST (c) sRIsR 3R
3) fae™ (b) 3mfor (¢) SRR 3mRd %) Teh U (¢) RIR 3R

Observe the following statements :

a) The Peruvian coast becomes green due to good rainfall from La Nina. .

b) There is a rich harvest of cotton, coconut, banana in the Peruvian desert due to gocd rainfall
from La Nina.

c¢) El Nino is an irregular warm ocean current in the Pacific Ocean.

Answer Options :

1) Only statement (a) is correct 2) Statements (a) and (b) are correct

3) Statements (b) and (c) are correct 4) Only statement (c) is correct

Read the following passage carefully and answer the questions 41 to 45.

GTetter SART AT ¥9 T gY Tere Sax .

g fiesT g ereT |

YT Pial g TFHH |

g YNMRT Feg TN |

THIUM O AR IR 1194311

STame JRepolo U HefIuarS! sied SRfdl. FHIUMTT HIEHRd el 3T fHesard

3T, 3N BTG PRI fEHUIRT AT TRIS! Tl A9 FHIUMT €I IRAT. 319N ded ST
HAUITATES! P dvet UTfet araT 7Rf, sfigweriHt a1 eehierrd Aiffidaer aie. df FUT FRuIRITS! A foRae 1™
fiyesTa FgUT Hut HIURY VT AT 3eid Rl @ T T qui dhel 3TTg. o AN Ul &1, deael,
Hell, TN, AN J AN B &I
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eI F1R1 AR S F8 UafCI™Tthd T80T Rl I M Te G fHedet areft et 3.
qUT S ST URIfGATeR STaeied 3Tt e FRiE! |1 UafoaareRd facdd 3Me. Sfodl & aam &ffor gid SToms
R AT Sa® ST bl d T daed] Pl axl FHIYT Hes_ e, ATIVHT0] MRS dhotiea
eI ATl I S "aeam SR TcielR oreg aTuReT a7e, Al PIal Ao WRHICRITA] SIaw ST
b, TEIRT A TP H:9deh AT fohal PR IepecH 3 FfadT daeag=d SguM fbar # gor
foe SIS, @ fAfTe It 3MfoT It A1 AT Siaes 3RIeT M7 gui FHTUMI, FRass STHem g
U] BARTET Al WA &01 U Dl ITd TR T a1 |

IR 7 AT SRR Wl % Aobel. Tl faedd SRId™T Qe SRt W Joet d
SeERTelT A el STSet. qoT g Tl IRet! Dl d AR U g A A ST I AU TE Flsed. TSI
TSTIRT PRAMT Icehe HIG 0T UfdaT AR Afefed Sl gler. dURITd @ FHIUM fedhel. W™
TRUIST IETHNTTET R FRUITaRE! oo, s, SHIST It FeT SRAdTel SMfor 7 Fafera @rear FHTaMTeRe
EDISICERIG

31 e aRiet Ad ARTI R FH1e v ATgl @ AT 71 AR o FHI e AR IR’
U ST HedRT Sacdd e erhel 3R AR, 2 T 1Y Sifetel] AdRIgar Fgulel had
Qg AT HEARAT J18UT 8T ATel. AT S STAATT 3ol Fe! Areanel A1 Siigd ot FaanTlt Fere
TR U AT AfaaRiE /9 T IR 9fe. $hads SgM HdieRIsR JEUR ST 3Mer AT
HIURATETE! &1 HATE STlelel ST AT PR AT HAHEIRT A1 I8! <R Tich Qal deeiell 3RAC. BRI
TG AT SR AAIIRET ST ST M1 ava AR '+’ qurT T Felredm HIGqund et gresd STl
T SR A, FRTgdRIHe AT ST GUROT . I AT Hel Il i gui simt wp
fSepTolt ' gEd T AT 3R ol . T JATT 3fe. Tl Agar UIe Fard vy 3Me. U ATLBH
TR ST STg AR aral 3T @R feRofia. |emem firssard ]

¥9) DU AU Sdeid PRI SRelel AU I et afisel IreAT Siie .

e afsrear
a) fissm i) TR PAGRT UTH BIUTR ST
b) Tas™ i) el sreved SeaRieft A Sev g IS AT gav MR ST
¢) A iii) Ufgep @ Hifre g@rar m
d) TRy iv) vafcamTha f@uR M
e) AT v) R Saerhie Siaw SR §=
R SR :

@ () () @ (e
9 (v W O > (i)
) (i) (v) () (G ()
3 O Gv) (v () (D)
8) () @(v) (v @) @)
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¥3) 9 IFSRIAT HA YU HIURATAT ead SAHI dhegl UTH 8l ?
q) A, PG, TN FRTAR JEITHNET N BedTaR WUt AURITET QMead AeTem fiesd.
Q) TR el HIETHIT NN S Sl AT I el FedRId R FH1UM 96
2.
3) M T g HaSHTaT FgaRT g AR Pelel STERUT MU ATURITAT AHTE <.
¥) Gd Agarad ‘Hl' JUIRT AN hedeR HH g S Aared] HIouund fef| siedmar wusdt 1ot
QMeaT I UTH &I,

¥3) HHIYMRET 3Fg R RISt YAdmT TRt o SRl ?
q) FEYF AHRIST A qRasTHrET 3R o,
R) AT Mead FHTUET &R al SifiprRal.
3) AT 91 ATURME $9 Af UdifodieThd T80T .
¥) e, TN, N IidT FRIBR PRI Sita- SHIal.

¥8) VU AR PIVAT GifediHThd S TE0T vl 2
q) 3MU, T, IR, SMepreT, geaft Q) s, Wel, ®Y, ], TY
3) B, U, A1, I, SURS ¥) #d, @, 3, i, T16

¥Y) FRdT FEY™ e AR grmmeft e sRTeledr Haier dive ?
q) FET IR SR SlSetel AT AR IRaA bl HYEIT A, AN F TG 37T,
R) @I fAqHTIT 9T Siielel R {14 UTHia M shiuTfe fdeRiear waifel sRdr.
3) Ve, Hufaes RITHNTT TR <3, Hies, FHIS Iredl HITQT HI0RITE SR,
) TSTANTIG HHIT Fae’ IguaTd! FAfeT Juel HTORITT SRAI.

*  Read the following passage carefully and answer the questions 46 to 50.

Among the natural resources that can be called upon in national plans for development, possibly
the most important is human labour. Since the English language suffers from a certain-weakness in its
ability to describe groups composed of both male and female members, this is usually described as
manpower. Without a productive labour force, including effective leadership and intelligent middle
management, no amount of foreign assistance or natural wealth can ensure successful development
and modernisation. The manpower for development during the next quarter century will come from the
world’s present population of infants, children and adolescents. But we are not sure that they will be
equal to the task. Will they have the health, the education, the skills, the socio-cultural attitudes essential
for the responsibilities of development ?

For far too many of them the answer is no. The reason is basic. A child’s most critical years, with
regard to physical, intellectual, social and emotional development, are those before he reaches five
years of age. During those critical, formative years he is cared for almost exclusively by his mother,
and in many parts of the world the mother may not have the capacity to raise a superior child, She is
incapable of doing so because of her own poor health, her ignorance and her lack of status and recognition
of social and legal rights, of economic parity of independence.

One essential factor has been overlooked or ignored. The forgotten factor is the role of women.
Development will be handicapped as long as women remain second-class citizens, uneducated, without
any voice in family or community decisions, without legal’ or economic status, married when they are
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still practically children, and thereafter producing one. baby after another, often only to-see half of
them die before they reach school age,

We can enhance development by improving women power, by giving women the opportunity to
develop themselves. Statistics show that the average family size increase is in inverse ratio to the
mother’s years of education. It is lowest among college graduates, highest among those with only
primary school training or no education. Malnutrition is most frequent in large families, and increases
in frequency with each additional sibling.

The principle seems established that an educated mother has healthier and more . intelligent
children, and that this is related to the fact that she has fewer children. The tendency of educated,
upper-class mothers to have fewer children operates even without access to contraceptive services.

The educational level of women is significant also because it has a direct influence upon their
chances of employment, and the number of employed women in a country’s total labour force has a
direct bearing on both’ the Gross. National Product and the disposable income of the individual family.
Disposable income, especially in the hands of women, influences food purchasing and therefore the
nutritional status of the family. The fact that this additional income derives from the paid employment
of women provides a logical incentive to restrict the size of the family.

46) Manpower development during the next quarter century
1) will be adversely affected by the threat of war
2) will come from the world’s present population of infants, children and adolescents .
3) will be well taken care of by the current emphasis of free education for women
4) will be adversely affected by the country’s economic losses and political instability

47) The writer directly or indirectly made three of the following statements. Indicate the one he
didn’t make.

1) Many of the world’s present population of infants, children and adolescents will not have the
health, the education, the skills, the socio-cultural attitudes essential for the responsibilities
of development.

2) A child’s most critical years with regards to physical, intellectual, social and emotional
development are those before he reaches five years of age.

3) Development will be handicapped as long as women remain second-class citizens.

4) In the advanced countries of the world, women are regarded as first-class citizens, but in
developing countries they are third-rate citizens.

48) From the alternatives given, select the word closest in meaning to the underlined word. They are
carrying out a charade of negotiations with the government.
1) series 2) charter 3) absurd pretence 4) spate

49) Choose the correct antonym from the options given.
“Termagant™
1) Charming 2) Turbulent 3) Brawling 4) Shrewish
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Without a productive labour force, including effective leadership and intelligent middle

management,

1) no productive work is possible

2) entrepreneurs will incur heavy losses

3) economic development will not keep pace with national movements

4) no amount of foreign assistance or natural wealth can ensure successful development and
modernisation

Ul el 3 Uiy, R @8 T 4 e <ig 3Ted. SR A dgdm Uerdmyd 9 g SR Pieel, ™R
PGl g el ATal, It AT fadt 3R ?

9) 8/Y Q) 3/9%0 3)9/y ¥) 9/

A bag contains 3 white, 2 blue and 5 red balls. One ball is drawn at random from the bag. What is

the probability that the ball drawn is not red ?
1) 4/5 2) 3/10 3) 1/5 4) 172

qrfeet sr= enfor forean seyfa Fifeaaun I sRUR faemer .

C g a91ed F, D 31t G 31 aargciiean Sfamiel siet aimg. C 3Afor A a1 a¥rech E <27 yaiell afeted
31TR 3MMfor B & aarad C 31for A 21 afeaqyett aetel! 31Te. A 31for B 37 a¥iTgcll G AT aaTaei T Sferovett
aNTeledT 3MTed.

9) B & a9rgd E a1 adTEdiear gdell a¥ielall 37Tg.

) G & J¥Ed A 1 gATEAT Uil a¥ieiel! 3R,

3) G 8 a9Ted B IT I9TedIAT SRl a-feiel] 3TTe.

¢) E & g4red D 1 axITedi<n Sfamter a¥ielelt 3TTe.

Study the information and select the definitely true statement with respect to it.

Colony C s located to the south of colonies F, D and G. Colonies C and A are located to the east
of E and colony B is located to the west of colonies C and A. Colonies A and B are located to the
south of C.

1) Colony B is located to the east of colony E.

2) Colony G i1s located to the west of colony A.

3) Colony G is located to the north of colony B.

4) Colony E is located to the south of colony D.

T 4 Fel 3Felel Y ER [HUIRITST Y el I Fot el PR AR, DT o SATCATIR SR
JeSTeT Qe Halldhs FH FR Pot IRAcHel T W o Ry it oda gidr. JTdiet dreids
BRI [HUITRATC! SRacied] ARIUEIT Tich 2 Gel AT Il STITOT Al g Rl Saeaehd daa! Fel el
F Al ATE. T Fdipeedl Helid! Tl RG] PRUIRIAS! SR HADPH Fd:heiel Hefidenl
3 Pl Ryem feth,

1) 93 ?) R 3) ¢ 8) aleiehl Tt T
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5 children are collecting flowers in the garden for making 5 garlands using 25 flowers each. They
decided that at the end of the collecting time, they are going to ensure that they all have equal
number of flowers. Four of them are only 2 short of making their garland as was decided and the
youngest child was not able to collect the required number of flowers. So each of the others gave
3 flowers from their collection in order to equalise the number of flowers.

Choose the option that indicates the number of flowers that the youngest child had collected.

1) 13 2) 12 3)8 4) None of the above

Tefiel FReAmT Aeie X' 3T 3RT A 93, ¢, 94, 98, 99, §, 9%, 9%, 93, 9V, 9%, 9Y, 9§, 94, 9.
SR ¢ Uasit ¢ g AR Udell, TR UIRT Jegies 'Y Ial R X' S 'Y Freht ke et

9) 30 Q) W 3) N 8) N

Let ‘X’ be the median of the data 13, 8, 15, 14, 17, 9, 14, 16, 18, 17, 14, 15, 16, 15, 14.

If 8 is replaced by 18, then median of the datais “Y’. What is the sum of values of ‘X’ and ‘Y’ ?
1) 30 2) 27 3) 28 4) 29

93 oicar arftiereht araRg SrRfid T iRaT Sesr. TSt S el dToRT « FEATerT e
e YT heh fetedn SfYerhicy ATfed R om] v,

nepu pelkeui = the girl is coming from the hut.

napu tipkeu = The dog is going to the hut.

lam mirkeui = The farmer is walking from the field.

dowl pelkeu = The girl is running to the meadow.

"The dog is walking to the meadow" g 3T {TNT @ch HRUIRT GIT fHaer.

9) dowl tipkeu R) dowl tipkeui 3) dowl mirkeu $) napu mirkeu

Study the following expressions and recognise structure of the unfamiliar language.

Use two assumptions that : there are no exceptions to the rule, and only those rules apply which
may be derived from the given expressions.

nepu pelkeui = the girl is coming from the hut.

napu tipkeu = The dog is going to the hut.

lam mirkeui = The farmer is walking from the field.

dowl pelkeu = The girl is running to the meadow.

Select the option that expresses “The dog is walking to the meadow” in this language.

1) dowl tipkeu 2) dowl tipkeui 3) dowl mirkeu 4) napu mirkeu

et el faal, ARISH g ISR AT IR AT SIcToR foemeff SRaguiRt 9 S1ighlt 37T, et i
ST AT SFIhH €9, €4, 3 T €] 32l 3R, Theh ARIS! ST et wwer fae.

e et

—_ o o
- -
T TN
"

—1—h

i i ] 12 ".l
r y :'| TTATR
H] ] 12 |

i T /!

—T
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1) R )8
3) ¢ 8) IR fequarst Reft It gRactel el

Study the accompanying Venn diagram that shows the number of students who speak four languages
namely; Telugu, Hindi, Marathi and Gujarati. The number of students who speak the given languages

1s 61, 65,73 and 69 respectively. Select the number of students who speak Marathi only.

Telugu Hind

3
6 6 9
Gujarati
] 8
Marathi
4 11 4
1) 19 2)9
3)8 4) Enough data is not provided for getting the answer

AT, AT 37T AT I Weprer dabt WepTer G2 Ueprdl feiqURIT IcfobIepR ShISHIUTHIE ETdietl GodTcl
Petl. T TRl AT Yo Aepard, AT 04 Hebara 0T T 99y Hepard quf oheft. T forelt el deom
g2l IR fdgstdes Hexiler ?

q) 0 1. 3 9. R) 38 M. 30 9. 3) 9 fir, 30 3. 8) 99 M. 30 .

Rina, Tina and Hina are starting at the same time from the same point in the same direction to run
around the circular playground. Rina completes a round in 70 seconds, Tina in 105 seconds and
Hina in 175 seconds. After how much time will they meet again at the starting point ?

1) 17 minutes 3 seconds 2) 34 minutes 30 seconds

3) 71 minutes 30 seconds 4) 17 minutes 30 seconds.

TS "M FREGE ApIo! Y.00 ITSTdl Fed g faglell Aepro! {.00 JTord Ulgdd. TSl 'N' figiaze
PTG 9.00 JRIAT Jed T HISAT Fbles! 0.30 TSI Ulgad. TR Qlel SANNTTSIE! GehHebp JATcAisudrd!
AT I% DIV IRIA ?

9) FRMB! 0.3 TIAT Q) APID! 9.4¢ T 3) ARID! .00 TNIAT  8) ARID! ¢. & TSI
Train ‘M’ leaves Meerut at 5.00 a.m. and reaches Delhi at 9.00 a.m. Train ‘N’ leaves Delhi at 7.00

a.m. and reaches Meerut at 10.30 a.m. At what exact time do the two trains cross each other ?
1)7.36 a.m. 2)7.56 a.m. 3) 8.00 a.m. 4) 8.26 a.m.

HIUIT TehT FHETAT d RchiAT DIVATE! UL QI T SR R Ja 318 31 et Tep arar
el A IR ST SR g AT A, Wbl VTRl A1 FHErRAT M gRhid! S Use.
AT Ueh @ich! SlereR IO SR, @ehl eblet 3118 ST iR eehl Qe TR, <Teall A RIRTa el
ATl T fieielt ST ST JNfor yeiet wafaiqy v faum faer,

X : ot et A Z e T,
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Y : X gehiet 18, Z et 3R,
7 : X Siaex Arg). # daest A,

it S :
q) X Slaex IR R) Y ThieT .
3) Z P e ¥) aeIS! Thdl e e )

All persons of a certain community are in a habit of answering any question in two sentences and
one of these is always true and other one is always false. A visitor came across three persons of
this community : one of them is a doctor, another one is a lawyer and third one 1s a farmer. Study
the reply of these persons to a question about their professions and select the true statement
from the given options.

X :I'am not a farmer. Z is not a farmer.

Y : Xisnot a lawyer. Z is a farmer.

7 : X is not a doctor. I am not a farmer.

Answer Options :

1) Xis a doctor. 2) Yis alawyer.

3) Zis a farmer. 4) None of the above statements are true

<GT STV Pgard GOy d Reriieh e FHM 3iTg. AT QM diel 3TN QI Hefil 3Ted. T Pgere
AexiaEerd! 3t Hifed gel el e,

R PNl AT KT AIGT 3 TR AT ST AT T8 e, AdAD g oideb g R Siaex i aeiel
3fe. i, FHRET SR 3R @ qQEel PARGIN 3Med. i 31s fQfdepr og. SRIeT ST AR 7
PeaTiiel UbHd Siied 3Mlg. 3T ol Hletel ATal d i PRI Gerll 3.

M J oREeh egehl AredTcilel ARIT du . RUIRT 91 e,

q) M9 ARG PRUMTIT ehld dStel 3TTed. Q). VM oI RUTIT egehial FaRT 3772,

3) IM oG PRUMTT Fxhidl A1Ss 3. 8) I TG PROMAT Schial el 37T,

There are equal number of men and women in a family of six. There are two fathers and two sons.
Additional information about these family members is as given below.

Ram is eldest and Nita is youngest of the family. The farmer is the father of the writer and also of
the doctor. Nita is Sameer’s sister and both are teenagers. Their mother is a teacher. The only
couple in the family is Jayesh and Nadira. Anna is not married and is the daughter of Ram.
Select the option that describes the relationship between Ram and the writer.

1) Ram is the father of the person who is the writer.

2) Ram is the husband of the person who is the writer.

3) Ram is the brother of the person who is the writer.

4) Ram is the son of the person who is the writer.

<1, TR, |, SR g R an igeft smed @ Qi e e J¥Tedidiel aRrdT ettt el T e
ST, PIcT, TGN, BT MO St a7 fSHToN=T He et g, it Ard, S, FoaR, Aegsr T e
2 Hfg a1 YERAS! fFarsel. Yo Pral aAftiepelt a Aafera qed foeft amed.

oI feAa=e) eI Bciel! T Agl febat geren He feft e, JR SITHed SiefTell efl. ST Hierel el
qur A fehar AecaRmed AL T Ardued gEieR Aot Wiy gerel gaf e fReumges ot a2 el .
gk S Udfeled] @hid 19 fael.

9) <& R) €T 3) a1 foar A g) foer Reft =Tt
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Daya, Maya, Saya, Jia, and Nia are housewives and their team takes care of the garden in their
colony. They wanted to visit places Shela, Kota, Moha, Heta and Vela for vacation. They choose
to take these holidays in the month of March, June, September, November and December.
Following are some additional, related facts.

Jia took holiday in December but did not visit Moha or Heta. Maya went to Shela in June. Daya
went to Kota but not in March or September. Nia went for holiday in March but as she had visited
Heta, she did not go there.

Select the person who went on holiday in November.

1) Daya 2) Saya 3) Daya or Saya 4) Data is insufficient

93 T G e el 3RIT QR (a), (b), (c) 3Mr (d) 3reft Ffidem arfelel o Reft amed. 9
7 fAUI R X U SfAfEa SRIuRY ST Qg faer Yepfiadur gre faumnelt b= araciiet areft
PHAIR Siiel g,

SR AT fifdhe SRiel e gral Alce g Srehl.

a) Tl e Uifge. b) TFws fifdhe g

¢) T e urfel a. d) graTess ffdhe e

gl IR :

1) (c) 3Mfr (a) R) (a) 3Mfr (b) 3) (d) 3T (a) 8) (b) 37T (c)

Given below is the main statement that is followed by statements labelled (a), (b), (c) and (d).
Select the ordered pair of statements where the 1% statement implies 2™ and the two statements
together are logically consistent with the main statement.

You can watch a drama only if you have a ticket.

a) You watched a drama. b) You had a ticket.

¢) You did not watch a drama. d) You did not have a ticket.

Answer Options :

1) (c) and (a) 2) (a) and (b) 3)(d) and (a) 4) (b) and (¢)

YUt AT Faseiedt M, N, O, P, Q, R, S @ T a7 3R SRIGAIT JRRAT Fefe drisHr
SHAGSTUT PRURAIST QI T TIR PRI 3TTecl. UAP Dridd! QD! el T 3RS, Tehl Tl
STRITT ST U fobelT i el IR Riehc SiAcliel. DRibARIaL Prel Atfech e el 31,
a) TRTel S A O @ M Wbl T 3cilel

b) BT 3T M d T TehT T SFAUR TEIcl.

¢) O A9d R @ N It fas dhefl STUIR T8

d) M g P \9d Q =t fas gsa g S died et Fas dhetl SIUR ATl

SR TepT St P a@ M dt fag dheft, TR et sy v faum fFaer,

IR SR :
9) Tpl I UTd Rch! IRIUIR. ) N I Il TS SRR,
3) Q 3 T A IUIR. ) S I T TS TAUR,

Two teams are to be compiled from health workers M, N, O, P, Q, R, S and T selected from all
over the State for executing health related programmes. Each worker will be in either of the
teams and one of the teams can accommodate at the most-five or at least four workers. Given
below is some more information about the workers.

a) Being best friends O and M would be in the same team.
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b) Being rivals M and T will not be in the same team.

¢) R and N will not be selected along with O.

d) Q will be selected with M and P but not with S.

If P and M are selected for a team, then select the true statement from the given options.
Answer Options :

1) One of the teams has five persons. 2) Nis the member of this team.

3) Qzis in the other team. 4) Sis not the member of this team.

3TRIS USIRITS! 9340—090 T PHleRgeldiel ATfecdTal 3TRIRT PR A3, AIRIRS! i TRID Exal
PRUYTT SR, TATD G IUeled] IRTeied] TR AT Urd Geieprdl Hifed! el feletl 3.

ofivs wIfdE dleEs  ggraui?  faaRumafga?  f&aa?
20" and 21* Century Literature' QRYo-3030 3R SIN B, 8Yo
The Illustrated Guide to Literature 9QRoo0-0%0 rgt e . Yoo
Beginners' Guide to Literature 9¢Yo—-090 gt SIN . Yoo
Literature For All Q¢Yo—-000 3R e B, YYo
All About Literature qQ¢oo—-0%0 31 gt 2. oo

ST feaeft =T SUINT el Teve GRiep @Ral PhRUIRATS! < Heh! /epS Er eI il Tl
4 QRIDId] 0% Teh PHT G bl o gl TV o STaies SRfeted UeTd &< SUIRI Fafd

fopclt gReciep Eicte.
JMRIQMPS IRt Yepd e,
9) ¥. o Q) B. Yo 3) ¥. 9o ¥) ¥. 930

Aisha is studying literature of the period 1950 - 2010 for her graduation. She decided to buy a
book to help her with studies. Information about 5 different related books which are available at
the local shop is given below.

Title Period covered Hardback? Ilustrated ? Price?
20" and 21* Century Literature’' 1950-2020 yes no Rs. 450
The Illustrated Guide to Literature 1900-2020 no yes Rs. 500
Beginners' Guide to Literature 1850-2010 no no Rs. 400
Literature For All 1850-2000 yes yes Rs. 550
All About Literature 1800-2020 yes no Rs. 600
Select the amount of Rs. that is left over with Aisha.
1) 90 2) 50 3) 10 4) 130

ST g frgean fafdy st TR g ey we $iTs Rieer aRve= el |14 3¢ femeai= g

T IRERTT SATaetl. Tdd JolM SIvered STt e SMfdT aF Heffeam ude Tem e fagrean

SINERCASISRCIES]

q) AT AT JeTaT 92 oll SR AT

R) TR T Aol THUT SATSTH! AT SR ¥R 3RAd, TR T ATl Jetrdt Ave (feaaur gerdan
9g 7 SR IR,

3) AT Amed 98 Het 37Ted.
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8) RIeT Tl STdeledl THUT TS AT SR 49 3Rie, TR T Mediel Jefrd! dvet fHifeaauur a3

RIS
65) All 36 pupils of the Zilla Parishad School planted in all 48 plants, a mixture of jambhul and chiku

varieties, in their locality. Every boy planted three jambhul varieties and the each group of two

girls planted one chiku variety between them.

Select the statement that is not true with respect to the above information.

1) There are 12 more girls than boys in this school.

2) If the total number of plants planted is 49, then the number of girls in this school is definitely
14, with respect to the above case.

3) There are 14 boys in this school.

4) If the total number of plants planted is 51, then the number of boys in this school is definitely
13, with respect to the above case.

&) SR 340y IT TS 3 AT Y T HRT AN, TR IgHH Teheh T TR RAMRITS, S 3iepsilel Faer.

9) o, ¥ D) Y, 8 3) 4. & ) o, &
66) If the number 357*%25* is divisible by both 3 and 5, then select the appropriate pair of digits in

units and thousandth place respectively.
1)0,4 2)5,4 3)5,6 4)0,6

§0) FITTT GRGID PRIGTT GPST SRR, ] G &I HPIT ARG TN Qe ag)—

K7
Y

67) Study the accompanying piece of transparent paper. Select the fold image if it is folded to get
triangle.
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FIGRHI Uep aehl FgUNTell, ' TRUCUITAT JTodedT fRrepRran ey Hiu], Fc-eal 3! icssil Huy ST
3 STaufshaTd T[0T ARTRET Dral acrea] AT e -HicRIG TRIRUIEA] SUR AT WTudihs
STEIST STFH &HAT 3Tg &1 hlal HLNehidT QaT GHHT0T TTg!. TITd el HIddTeTd dheted] HgwTel
IS IS SUAATST FaId: 2T T gael HRUAT & ARUCUITIT HTUTcl Ta! 3R Helfere] HANTeReI Tl
R 3T SMOT ITe ARUCUTRAT HI0Aihs SIciel STHT PIQUdTEl &HdT el 3R1 STH PIveTe!

YT Do fae a1 daaredn SFHFRIS! SMaedd Taad Mg ?

9) TR Il e ARYCUIRIT 1o = fiieh UdfeRuTiier ac 31 Jarjdia ared.

R) SR ERUCUIRIT 01T AN ST HishaT Ul &dT SRiet, TR Plal dadl o ¥ad:<dT =]l
AR ISGATTHR T2 eI dGcT DRUIRITS HEH STl

3) T SFFAM Tfehar ST ITBMT fetel TRRAIG AT Qvel aTell WebTal SRIARAIGT JMIGH S TN,

8) FRUCOTRIT V0TIl d IoTe TAEIeu] AT Acfch—HeRTG JoTea SR dRal Achia.

During the discussion one speaker said, “As claimed by some researchers, it is not reasonable to

attribute complex reasoning ability to reptiles on the basis of simple stimulus-response

explanations of some reptiles’ behaviours like searching prey, caring for their eggs and engaging

in various other life processes. But since, as observed during experiments, reptiles are not capable

of making changes in their behaviour when they are made to face major changes in their

surroundings, this leads one to conclude that reptiles are not capable of complex reasoning.”

Which one of the following is an assumption required by the speaker’s conclusion ?

1) In comparison with their behaviour in laboratory. experiments, reptiles’ behaviour appears to
be more complex in their natural environment.

2) If reptiles were capable of complex reasoning, then they would exhibit capability of altering
their behaviour as per the changes in their natural habitat.

3) Complex reasoning and responses to stimuli cannot both contribute to the same behaviour.

4) All reptiles’ behaviour can be explained on the basis of simple stimulus-responses,
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gieT Jfeharg ST 3T AR fete uataiqd wrea wafd Sfaes FHIR AT UfhaT 3RieT Jfharg

fraT.

TehT ATRRT PeaTal IUN fehal AR ATauITd TR 3T, TedT au AIITeeal qerid Juare aiTell

HICHRIAT T TR SR, IT JATUHAT PGS AU IehH IHRU AR AT, HHI HIRIGT

T I SRR Poa™ AR NG e,

q) SFAIGT M HRUITAT AIRIAR SATOITATS! SRR qReT U7 SHRTAT AWTal. i1 grem feft 3
RO AT B AT AW ST ST 7T

R) SR Tt fashcl 3RATeT R el uIRITS! fSshid e1edr MoudTd! TRST 317, SR ARTe [RTEidiel d1ed
MU Jrel JIRT STTeTd, TR Tl Sedral AT ST 2Tehell.

3) RichHHT dHAThd fhar T S ScRel 3T T Bice™Ithd HH XM doid [IfFET axar Aa). db
MYTIRATST AT Ie5 Jreamdrelt e T glceral SUINT HRral SNl

8) JMERIPA darehgd fohdl AEPRI dchang] Pol MUl AT IR, TeDRI dobell I Hgh HaT Goif
SIS ShI PoTRITC! HEDRT dahehs 3 HRUITY BRAc DRUT KT T FeoT ol BT @it
3.

Study the following argument and then choose from the options given, the argument that most

closely parallels the reasoning of it.

The farmer’s family had an option of planting gram or soyabeans. Last year gram received a better

market price as compared to soyabeans. But in order to ensure high yields, quality organic

fertilisers and eco-friendly pest controlling inputs are required for gram. Since they could not
get credit required for this additional care, in spite of the crop being likely to earn less profit, the
family planted soyabeans.

1) In order to go on excursion for collecting field data, the learners need to raise enough money.
It is impossible for them to raise the sufficient funds, therefore they are unlikely to go on
excursion.

2) For securing promotion, one needs to meet sales targets 1f one is working as the salesperson.
If one 1s successful in meeting the last quarter’s target, then one can hope to get a promotion.

3) Itis possible for tourists to exchange currency through bank or for poorer exchange rate, they
can use the hotel where they stay. There was not sufficient time for finding a bank so they had
to use the hotel for exchange.

4) It 1s possible to get the loan from a nationalised bank or a co-operative bank. Since a co-
operative bank has higher customer service rating, a person decides to apply for loan in a co-
operative bank as she is sure of getting the loan easily.

WBGATC! T4 AT 3Meied] UG AN UTethld HTISUR TEFSRRCRM g Hoilaeh FHTIAE HRUIRITC!
AR Ffe 3RTSC i wrRi=aT deTFiepT dell 3R, Tel, ' Waorgeal UeeHId a1 glsel T
HfhaTT VIS T STRIRT Shell. ST FAEHNHAT VFeRRCRd! A3 el e IR avgd™
e I= TN deeard’, 3 T AT STRIR 3easel.

] ATST] JTgATS! GE AT SSavaTgdl YIud UTelehal galee Sa thigr IUSd Il degl T
a0 FehTd TRes egdl. ST ST g R dHalfad d:d A A '/ Iasteprar’” amR ol
fiyesdld B SR AT ST JeiTfes FgurdTa.

Rt AT SATUR WHGHTS! TFSRRCRE TR FRUITER a1 SAM0uITT fRIHRT Rua Fard Ifad
HRUT el
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q) ShIAT FT RAFT BV 39 THIU T aTe et stfcriard dmed figdd < @ o Tel g
forel Icpe Uee™ (performance) FRUIRT H&d adl.

Q) IR GRGAMI dT6 Tl ST TaeRNCRM, SToiehTd PRI &l STIfOT STel HIUTE ! Faeure

3) FIREAT e 39 JHIUN BI0RT 16 WolgedT SRR fIusia giRurmd &,

8) UTeThId (ISR SRIGAT ol WU Schied] FGRT g 3 JHIUIT a1 gl

Scientists at the Berlin’s Institute of Pharmacy have recommended that Ecdysterone, a hormone

found in spinach, be included in the list of prohibited substances for athletes. Scientists conducted

a study for testing their hypothesis, ‘there would be an increase in performance of athletes.” They

found, ‘significantly higher increase in muscle mass observed in those participants who were

dosed with Ecdysterone.’

Popeye was definitely into something when be ripped open cans of spinach before beating the

bad guys for his beloved Olive. Now, scientists in Germany say that the cartoon character may

well have been “doping” to get his superhuman strength.

Select the most of appropriate reason for recommending prohibition on the use of Ecdysterone

for athletes.

1) Higher increase in muscle mass gives a person superhuman strength that helps him or her to
give the best performance.

2) Ecdysterone, as it increases muscle mass, serves as a dope and any kind of doping is banned
for athletes.

3) Higher increase in muscle power causes adverse effects on athlete’s health.

4) Spinach eating causes increase in muscle mass of the person due to Ecdysterone present in it.

AT ¢ HgaRY, 09¢ AT S e, TR e R A arefiawrer fagft BT aR I ?

q) HIBIR R) AHAR EDRCLEIN 8) LhAR
Sanvi was born on 28 th February 2018. Then on which day her 22 nd birthday will come ?
1) Tuesday 2) Monday 3) Wednesday 4) Friday

A 3f0T B U I STgehH 9Y 3TN o feaaiTe) qul eh_alia. Qe Uhal i HRUIRT Joawd dell, IRy
3 feaFcR B o M |AlSld diTel AT SRefel M A = JUT dhel. g M fobell fGa=ameat qot siret 2
9) ¢ foaa ?) 9o Raw 3) R fad 8) ay feaw

A and B can complete a work in 15 days and 10 days respectively. They started doing the work
together, but after 2 days B had to leave and A alone completed the remaining work. In how many

days was the work completed ?
1) 8 days 2) 10 days 3) 12 days 4) 15 days

feerelt U™ Rt SFEM S, Rotean RymieR smenRa o AR fas v
a) |d TR 9 gTaerdt ddbfoaR HRuAT ear uefifa aRard.

b) URURe el Yurtetl ol FRetet, warearf faemelf, sgur gu oiefer srfar.

C) e ral I YU Foiefiel ST,

gt SR :

q) I Ul THIGIR &l SRICIedT eh! T B0l QeI ST,

Q) TRy femeff S= i) ddbfaaR emdr uefiia aa ATgid.
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3) waerft fJeneff wide 7o g,
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Study the statements given below and select the correct conclusion based on these, that follow :

a) All mathematicians exhibit an ability to do high level logical thinking.

b) Self-learning students, who are not the product of traditional school system, are usually found
to be highly creative.

¢) Only some of the mathematicians are highly creative.

Answer Options :

1) Persons with high level logical thinking ability are likely to become mathematicians.

2) Self-learning students don’t exhibit high level logical thinking ability.

3) Self-learning students seldom become mathematicians.

4) None of the above
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Find the dot design of accompanying tiles and select the appropriate part of it from the given
options.
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Answer options :
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Read the following argument and select the best statement that points out the flaw in the argument
from given options.

Many people think that welfare benefits create a culture of dependency and an unproductive
workforce. Many people solely depend on welfare benefits without making any efforts to earn
their living. Few years. back the government introduced tough eligibility rules for getting welfare
benefits and the number of recipients has now fallen by 15%. The government should therefore
tighten eligibility rules to further reduce the number of welfare beneficiaries.

Select the statement that points out the flaw in the argument from the given options.

1) It equates beneficiaries with unproductive workforce.

2) It implies that beneficiaries are responsible for their situation.

3) It fails to empathise with beneficiaries facing adversities.

4) It gives the impression that the benefits are unnecessary.

Decision making and problem solving questions no. 76 - 80.

IRTCICAT ERTT AU SAEGRT 312, & B8R Paxiedl S1a6s 3Med. TRl SHUGR! gTed fSetea

FRIIER 2 a1ed el SIId g o 9 AfdaleriehgT SRR 3Ted. qml ga Arddrse Ard PHesid ol

aRE ATERIS U P P, el R ARRAT STSIRT JIURATE ! Shicstt LT ST SRIeTes BRI

areurd foren g et wiiger ereft fom faeia dhet oM. UanT o g TS T Seitel Te Tt

JMNIRT Ut} dotesot BTt oTTa 3RTed™ STell BR ard 3reft faeiclt Afearerates deft o, Afait

U el R el o, 37aT gl Aarsd Jrel 1 HE pHarRITer foelel TR e s @,

RIS AR TG 30T 37T 30T JrgTerm foreht FRren ereorrelt oig. et

q) AJATEITAT qICHTET MG IRGT SIUATT 37T IIeY SR PR T de AeaudTal e .
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3R AT e,
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You are the head of a certain office. The office secretariat 1 is in the charge of allotting limited

number of houses reserved for the office staff and these houses are near the office. Allotment is

done as per the rules laid down by the higher authority of the organization and these rules are

published by the secretariat. Your distant relative works in this office as your senior assistant.

She pleaded to the secretariat that she should be given priority in house allotment as she has to

take care of her ailing in-laws. Another junior staff member. also requested to the secretariat-to

allot house as he has to take care of his ailing wife. ‘The secretariat turned down her request by

pointing out the rules and on the basis’ of these rules the junior staff member has been allotted

the house considering the nature of his duties. Now your relative is pressing you to help her to

get housé that is allotted ‘to the j junior staff member and you want to avoid her annoyance. You

will,

1) order the secretariat to hold the allotment orders and delay the declaration of allotment as far
as possible. to

2) order the secretariat to allot the houses without’ considering any request related to personal
problems like ailment of relatives.

3) agree with the secretariat’s noté as they have strictly followed the rules set up By the authorities
though that might strain your relations with her and other relatives. :

4) request the secretariat to explain the rationale of the decision made about not considering her
request, in your, Rresence, ‘for ayoiding misunderstanding and Irritation of your relative.

el T WHTIOTRUUTRTST I 3RTelel RS TRBRI Hadh I, AT SMfUPRRAT! SRAeiedT
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g g 1T PiiefieT TEHN &rar el IT BRI & g, FRDRI Io FRFTHIR IRBRAR AT

el amg. a1 IR g feetedn ATl pivrT SR Hrian gl fFeere ?

q) TARPRIT I RTINS 3 AlhHT = ADBRA Sl & Jralell Hifed 8. AR AT
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You are a senior government servant known for your integrity. You are approached by a group of
activists who are working for social justice for the people who are considered low caste by other
groups, in most of the villages in your district that is under your jurisdiction. Many Buddhist
families from these villages are facing social boycott and are living in miserable conditions.
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Activists want you to support the movement and actively participate in it as you are against social

stratification of any kind. Government Conduct Rules prohibit government servants from

participating in activity related to criticizing government for the condition of these people. In
this situation, what appropriate course of action would you choose from the following list of
options ?

1) You know that large number of people are denied justice due to hegemony of so-called high
caste people, therefore you assure this group full support and guide them to plan activities for
long-term change related to this issue, though this is a very difficult task.

2) Discourage the group from doing any activity related to the problem of social justice as this
will aggravate the problem of the concerned people.

3) Explain to the group that you cannot participate in any kind of such activity as Conduct Rules
prohibit you to do this and you are aware of the fact that even highly educated people don’t
have any empathy towards these people.

4) Assure this group that you will give them full moral support and needed assistance without
getting involved personally in the programme to avoid any kind of violence related tc this
issue as so-called high caste people including high level government officials support social
boycott against these people.

el AT Pl SR AT STRIDIT ATRISIT SRIBRY FeU B PRl ATDIRAS! = o
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You are from a farmer’s family and working as the Government Agriculture Officer. The Agriculture

Minister ordered you to organize lectures for farmers by his friend who is self-proclaimed organic

farming expert and celebrity. The Minister also expects you to make VIP facilities available to

him. You, as an experienced member of your family, are sure that his methods are not tested

scientifically and do not give the yields claimed by him. You will

1) suggest the name of the scientist who assists farmers to experiment with scientific data available
on internet for guiding farmers.

2) explain to the Minister that this person is a fraud.

3) organize lectures of the celebrity as you know how difficult it is te convince the Minister that
his friend is a fraud.

4) suggest the name of the scientist who is working with farmers for many years and has designed
methods of using organic fertilizers for increasing yield, using scientific data for guiding
farmers.
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Every year 20 th March is celebrated as Happiness Day. As the headmistress, you want to organize

celebration of Happiness Day in school to make teachers and learners aware of process of living

happily. You have called a parents-teachers meeting to get ideas about celebration of Happiness

Day. You also talked to children of different classes and found that adults as well as children have

the same ideas about ‘happiness’. You also talked to the devotees standing in queue for ‘darshan’

of deities of their choice and you found that they also pray for something that can be purchased
with hefty amount. You will

1) allow teachers and learners to do whatever they enjoy doing at school as suggested by majority
of persons attending the meeting and request each one to write in brief an account of some
instances of happy life that they have experienced.

2) call some people whom you have cbserved living happily while doing their work and leading a
simple life and request them to share their ‘happy’ experiences with students.

3) organize teachers and parents sessions for constructing collaborative ideas about ‘happiness’
and for assisting teachers to design learning experiences that make the learning process
enjoyable te each learner.

4) organize lecture of a celebrated spiritual personality to make students and teachers aware
about eternal happiness as suggested by few persons who attend spiritual lectures regularly.

StaaTRIfeh! Huid Tel TeT Fee T W e, Ul IR WReefl Janeesd @Ry 37e
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You are heading a research team in a biotechnical company. You have mooted the proposal for

some special hands-on training in a renowned foreign laboratory. In an order passed by your

immediate supervisory head, three of your team members have been recommended for this training.

You suspect that it is deliberate on part of your boss with whom you had differences of opinion

with respect to another project. As first point of action you would

1) use your media contacts, social media and pressurise your boss to recommend your name for
the training.

2) seek audience from your boss’s superiors and make them aware of injustice done to you.

3) speak to your boss for knowing the reason for not recommending your name for training and
explain your point for recommending you for the training if necessary.

4) submit a written complaint to the concerned authorities about this matter.
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